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Qn; d(x, y) � e}�

"�����	��$��� #�
�� ��������	�� �� ����
������� ����	
���� ����� ?�� � ����R	�


�� �� @����	
 > ��� �>���
��

��#��*�+,� (:(:): "
����� #�� �� 
��
�� 
�� �
�	��

� �!�
�� d = 2e + 1

��	�
	� 2e � 
���
�� e ������ �� ����� �
������� �	 e �����  
���!��� ��
��
�
��

� 
������ 
��
�� 	�����
	
���


�9��+,� (:(:<: %� 
��
�� C ⊂ Qn 
�� �
�	��

� �!�
�� 2e + 1  �
	� 
��
��


��&�
	� �� Qn =
•
⋃

x∈C B(x, e)�

 �# �!��"�� $���	���

3���� ��*+� ��H	������ ��� ��� ���	
����� 
������ �� 
=��
�� � ���� ���� 
=��
��

� ��!�&���B QB > �� 
���� H	��� Fq 
�� q �����	���B �	�� q = pr � p > �� 	N����

������


�9��+,� (:':( �(=��
� A�	����: %� 
��
�� �
���� C ����� �� ��&���	� Fq  ��

Fq−�����
�$� ��	��
�� �� Fn
q � �� dimFq

(C) = k 
������� C �� �� [n, k]'
��
���

2������� � 	���*+� [n, k, d]�
=��
�B ���� �� 
=��
� ��	��� 
�� ����R	
�� ���

	��� d�

�����1� (:':': (�� 
��
�� �
���� � �
�	��

� �!�
��  
���� �� 
��� �!�
���

"�����	��$��� (��� C > �� ��&����*� �������� � ����� x, y ∈ C ����� ?��

x − y ∈ C� #�<�� x, y ∈ C ���� ?�� d(x, y) ��<� ��	���� A�
� d(x, y) = d(x −

y, 0) = w(x − y) � ���� w(x − y) > ��	����



(:' �/ �!�# �������# ;

3� ���
��*+� �� �� 
=��
� ��	��� �� �������	�� �	
�����	�� > � ?�� �� 
����

1����= !��� ����


�9��+,� (:':.: %�� ��	�
� k × n� G�  �
	� �������� �� �� 
��
�� �
���� C

�� �� ���� ��	���� �
��� &����� ��� ���� 
��� C�


�9��+,� (:':5: "
����� #�� ��� ��	�
� ��������� G� �� �� 
��
�� �
����� C�

��	) �� &���� 
����� �� ��	� ��	�
� ��	) ��
�
	� �� ���
�� �� ����
�	� ����
���

G = [Ik|P ]

���� Ik  � ��	�
� 
���	
���� k × k � P  ��� k × (n − k) ��	�
��

�� O'℄ ����� ?�� 	�� ���� 
=��
� ��� ��� �����5 
������� 	� !���� ����+�B


�	���� ����� ���&>� ?�� ������� ��H	�� 
/ �!�# �>"�*������# 
�� �� ������

���R������ n, k � d �� ���� ?�� ���� ������ ��� �����5 
������� 	� !����

����+��

���6�#�+,� (:':;: * 
��
�����	� ��	������ �� �� [n, k, d]−
��
�� C� �� ����'

$�� �� 
����	� 
�	���� 
����

��� 	��� �  �� 
��
�� � ����  
������ 
��
��

���� � ����	��� 
�� C⊥� �� � �
��� � �
������ �� 
��
�� ����  n − k � ��
��

����� G = [Ik|P ] � ��	�
� �������� �� 
��
�� C� ��	�� H = [−P t|In−k]  �

��	�
� �������� �� 
��
�� ���� C⊥� � ��	�
� H ���
� ����
��  �
	� ��	�
� ��

	��	� �� 
��
���� 
�
� x ∈ C ��� � �����	� ��� Hxt = 0�

% �������*+� �
��� 	�� �- ��� �	!����*+� ����� �������	�� ��&�� � ������

	�	
�� �� ��� ���� ������� �� 
=��
�B � ?�� > !�	����	��� ���� � ��� ��
����

H
�*+�� %���� H
�� <����H
���� � ��H	�*+� � � ��������� ?�� ������	������� �

��
���



�9��+,� (:':): ����� C �� 
��
�� �
���� 
�� ��	�
� �� 	��	� �� 
��
���� H�

��	�� 
��� 	��� x ∈ Fn
q 
������� Hxt �� �!������ �� x�

�����1� (:':<: "���� x, y ∈ Fn
q ��	�� x � y 	�� � ����� �!������ ��� �

�����	� ��� x − y ∈ C�

�/���� ���� ������� �� Fn
q � a = (a1, . . . , an) � b = (b1, . . . , bn)� ��9����� � ������� �������


�����
� 
��� 〈a, b〉 =
∑n

i=1
aibi�



(:' �/ �!�# �������# )

"�����	��$��� #�<� H � �����5 �� ����� �� �������� �� 
=��
� CB �	�+� �����


Hxt = Hyt ⇔ Hxt − Hyt = 0 ⇔ H(x − y)t = 0 ⇔ x − y ∈ C.

%� ��H	�*G�� � ���������� ?�� ������	������� �&��/� ���+� ����� ����
��	����


�� � 
���H
�*+� �� ��� ��	��
�� �	������


�9��+,� (:':%: ���� c ��� 
������ 	�����
	
�� � x � ��	�� ��
��
��� ����
���

� ��	�� ���� 
��� ����� e = x−c� ���������� #�� � #���	
���� �� ����� �
���
���

�� 	�����
����  � 
��� �� e�


�9��+,� (:':2: "
����� #�� ��
� ��	���� ��	�� ���� ����� 
����� ��	���� ��

���� 	�� � ����� �!������� %� ��	�� �� ����� 
��� �� 
�����  �
	� �!����

�����1� (:':(?: ����� C �� [n, k, d]−
��
��� �� u ∈ Fn
q  	�� #�� w(u) �

[

d−1
2

]

�

��	�� u  � �!��� �� ��� 
������

"�����	��$��� #�<�� u, v ∈ Fn
q B 
�� w(u) �

[

d−1
2

]

� w(v) �
[

d−1
2

]

B �� u− v ∈ C

����� ?�� w(u−v) � w(u)+w(v) �
[

d−1
2

]

+
[

d−1
2

]

� d−1B ��
� u−v = 0B �����

����� ?�� u = v.

�����1� (:':((: ����� H ��� ��	�
� �� 	��	� �� 
��
���� �� C 	���� #��

w(C) � r ��� � �����	� ��� #��
�#��� r − 1 
������ �� H ��� �
�������	� 
���'


�����	�� ,-�.�/�

"�����	��$��� ⇐) #�<� c ∈ CB c �= 0B H = [h1, h2, · · · , hn]� �	�+� 0 = Hct =
∑n

i=1 cihi� A�
� w(c) � rB ����B 
��� 
�	��-��� �������� ��� 
��&�	�*+� ��	���

�� r − 1 ������� A� � ��	�� 5����

⇒) #���	�� ?�� �/���� r − 1 
���	�� A�0�B ��� ����� �� 
�	��������� �������

����� ?�� �+� �� r−1 ��������� 
���	�� h1, · · ·hr−1� A�
� �/����� c1, · · · cr−1 ∈ FqB

	+� ����� 	����B 
��
∑r−1

i=1 cihi = 0� %���� c = (c1, · · · , cr−1, 0, · · · , 0) ∈ C ����

Hct = 0 � w(c) � r − 1B �&������

2�� 
��� ?�� ����
��	� �� ���R������ �� �� 
=��
� �����
�� 	� �������


�> ����01�
[

a
b

]

������ � ����� ������� ����� �� ����� � a
b
�



(:. �"!���# <

�����1� (:':(' �(��� �� #�	
����	�: ���� C �� [n, k, d]−
��
�� �
����� ��	��

d � n − k + 1� �������� �� 
��
�� 0"� ,0�1
��� "
�	��
� ��
������/ ��


��
�� 	�� #�� d = n − k + 1�

"�����	��$��� #�<� H � �����5 �� ����� �� �������� �� C� A�
�B ����� ��

H = n−k� 0� ������� ��"��� ��
�� ?�� ?����?��� (d−1) 
���	�� �� H �+� A� ��

%���� d − 1 � ������ �� H�B ����� ?�� d � n − k + 1�

 �% $�"	���

3���� ��*+� ������	������� �� ���������� 	�
���-���� ���� � ��H	�*+� ��� 
=��
��

��
>&��
�� 
���>���
�� ?�� ������� 	� ��=/��� 
��������


�9��+,� (:.:(: %� 
��
� �� &��$2�� ��� ��

�� F/K �� ��� ���
)��� ����� K

 ��� �1	����� �� 
��
�� F ⊃ K 	�� #�� F  ��� �1	����� ��� ��

� ��
	� ��

K(x) 
�� x ∈ F � 	����
�����	� ����� K�

; 
�	<�	�� K̃ = {a ∈ F ; a > ��
>&��
� �� K} > �� ��&
���� �� F � ���� F/K̃

> �� 
���� �� !�	*G�� ��
>&��
�� ��&�� K̃� ���� 
�	<�	�� > 
������ �� 
��6�

 � 
��#�����# �� F/K� 3���� ���&���� ����� ����� ������ ?�� K = K̃�

�3�16�� (:.:' �(���� �� 4�	*G�� ��
��	����: ; 
���� �� !�	*G�� F/K > ����

��
��	�� �� F = K(x) ���� ��
�� x ?�� > ���	�
�	��	�� ��&�� KB �	�� K(x) > �


���� �� !��*G�� �� �	�� �� ����	�����B K[x]B �� ��� ����-��� ��&�� � 
���� K�

T���?��� �����	�� 	+� 	���B z ∈ K(x)B ��� ��� N	�
� �������	��*+�

z = a
∏

i

Pi(x)ni


�� 0 �= a ∈ KB Pi(x) ∈ K[x] ��	�
�� ������������ �����	��� � ni ∈ Z�

% ��=/��� ��H	�*+� 	�� ���5 �� ���� �� �	�� !�	����	��� ���� � ����	������

��	�� �� 	���� ���&�����


�9��+,� (:.:.: %� ���� �� �����
��$�� �� �� 
��
� �� &��$2�� F/K  ��

���'���� O ⊂ F 
�� �� ����
�	�� 
��
�
�������

3� K � O � F 4



(:. �"!���# %

5� 6��� #���#��� z ∈ F � z ∈ O �� z−1 ∈ O�

�3�16�� (:.:5: 3� 
���� �� !�	*G�� ��
��	��� K(x) �����
�� �� ��������� �	>��

�� ������5�*G�� !�	����	����B � ��&��


#�<� p(x) ∈ K[x]B �� ����	���� ������������ 0�H	���� � 
�	<�	��

Op(x) =

{

f(x)

g(x)
; f(x), g(x) ∈ K[x], p(x) ∤ g(x)

}

.

%���� ��H	���B Op(x) > �� �	�� �� ������5�*+� �� K(x)/K� ;&����� ?�� �� q(x)

!�� ����� ����	���� �����������B 	+� ����
���� � p(x)B ����� ?�� Op(x) �= Oq(x).

;� �	>�� �� ������5�*G�� �+� 
���
����5����B ��
�	�� ��� ���������B ����� ���

��������


���6�#�+,� (:.:;: ���� O �� ���� �� �����
��$�� �� 
��
� �� &��$2�� F/K

��	���

�� O  ���� ��
��� 
�	�  O 	�� �� 7�

� 
���� ��1
��� P = O \O∗� ���� O∗

 � 
�����	� ��� ��
����� �� O4

�� 6��� 0 �= x ∈ F, x ∈ P ⇔ x−1 /∈ O4


� 6��� � 
��
� �� 
���	��	�� K̃ �� F/K 	���� #�� K̃ ⊂ O � K̃ ∩ P = 0.

0� ���� �&�B ��
�� ?�� O > �	�
���	�� �������	��� ��� P � 0� !���B OP :=

O = {x ∈ F ; x /∈ P}.

�����1� (:.:): ���� O �� ���� �� �����
��$�� �� 
��
� �� &��$2�� F/K � P

� ��� 
���� ��1
���� 8�	���

�� P  
�
�


��4

�� �� P = tO ��	�� #���#��� 0 �= z ∈ F 	�� ��� 7�

� ��
�����	�$�� ��

&���� z = tnu� 
��� ����� n ∈ Z � u ∈ O∗4


� O  �� ���!�
� 
�
�


���

;� �	>�� �� ��������5�*+� 	�� ����� � �� ����� 
�	
����B � ��&��B � 
�	
����

�� ��
���
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�9��+,� (:.:<: 3� %� ����� P �� 
��
� �� &��$2�� F/K  �� 
���� ��1
���

�� ����� ���� �� �����
��$�� �� F/K� ����#��� ������	� t #�� ���� P

,P = tO/  �
	� ������	� 
�
�


�� �� P 4

5� PF = {P ; P  ����� �� F/K}�

���&>� �� ��
�� �- ���
�� � ��� !�	*+� ����
��� ?�� ��H	������ � ��
���



�9��+,� (:.:%: %�� �����
��$�� �
�
��	� �� F/K  ��� &��$�� v : F →

Z ∪ {∞} 
�� �� ����
�	�� 
��
�
�������

3� v(x) = ∞ ⇔ x = 04

5� v(xy) = v(x) + v(y)� 
��� #���#��� x, y ∈ F 4

9� v(x + y) � min{v(x), v(y)}� 
��� #���#��� x, y,∈ F 4

:� 81
�	� z ∈ F 
�� v(z) = 14

;� v(a) = 0� 
��� 	��� a ∈ K�


�9��+,� (:.:2: 6��� P ∈ PF ����

���� ��� &��$�� �� �����
��$��� vP : F →

Z∪{∞}� �� ����
�	� ����
��� ���� �� ������	� 
�
�


�� t ∈ P 	���� #�� 	���

������	� 0 �= z �� F  ��
�
	� �� ����
�� 7�

� �� &���� z = tnu� 
�� n ∈ Z

� u ∈ O∗
P � ���
� &������ vP (z) = n � vP (0) = ∞�

2� �������� ��������� �������	�� � �������� �� vP > ���� 	� ��
��	�� ����

����


�����1� (:.:(?: ���� F/K �� 
��
� �� &��$2�� ��	���

�� 6��� #���#��� P ∈ PF � � &��$�� �� �����
��$�� vP ����
�� 
��� �

��  

��� �����
��$�� �
�
��	� #�� ��	
�&���

��3� OP = {z ∈ F ; vP (z) � 0};

��5� O∗
P = {z ∈ F ; vP (z) = 0};

��9� P = {z ∈ F ; vP (z) > 0};

��:� %� ������	� x ∈ F  
�
�


�� �� P ��� � �����	� ��� vP (x) = 1�



(:. �"!���# (?

�� ����#��� ���� �� �����
��$�� O �� F/K  �� ������� ��1
��� �� F �

0�H	������ �
��� ��
�	� �����	��� �� ������ ?�� ���+� ����� �����5���� ��

	���� �/���	�*+��


�9��+,� (:.:((: ����� P ∈ PF � FP = OP /P � 
��
� �� ���!���� �� P � �

�
�

�$�� x �→ x(P ) �� F �� FP ∪ {∞}� ���� x(P ) = x + P �� x ∈ OP �

x(P ) = ∞ �� x /∈ OP �  
������ �� �
�

�$�� �� ���!���� 
�� ���
�
	� � P �

������� ������ ?�� ���<� �� O7℄� �� P ∈ PF �	�+� K ⊂ FP � FP /K > ���

�/��	�+� H	��� � ����� ��H	����



�9��+,� (:.:(': �� P ∈ PF ����
��� � ���� �� P 
��� ������

gr(P ) = [FP : K].

;� 
�	
����� �� 5���� � �=��� �+� �� ������R	
�� !�	����	��� ���� � ���
��*+�

��� 
=��
�� ��
>&��
�� 
���>���
���


�9��+,� (:.:(.: ���� z ∈ F � P ∈ PF � "
����� #�� P  �� ���� �� z ���

� �����	� ��� vP (z) > 0� � P  �� 
��� �� z ��� � �����	� ��� vP (z) < 0� ��

vP (z) = m > 0 &������ #�� P  �� ���� �� ����� m � �� vP (z) = −m < 0

�
����� #��  �� 
��� �� ����� m�

; ��=/��� ���������B 
������ �� ������� �� ����/���*+� !��
�B ��� ��� N���

	� ���
��*+� �� �� ��� 
=��
�� ?�� ������ ��H	���

�����1� (:.:(5 �%���/���*+� 4��
��: ����� F/K �� 
��
� �� &��'

$2��� P1, . . . , Pn ∈ PF ������� �� F/K� ��
� � ��
� �
�	
�	��� x1, . . . , xn ∈ F �

r1, . . . , rn ∈ Z� 8�	��� �1
�	� x ∈ F 	�� #���

vPi
(x − xi) = ri, 
��� i = 1, . . . , n.

��������� (:.:(;: * 
��
� �� &��$2�� 
����
 
���
	�� ��������



(:5 � ���6�  � �"�+-�# 	�
�����# ((

 �& � ���'� �� ���()�� �	
���	��

(��� ��H	���� �	��������	��B � 
���� �� !�	*G�� ��
��	��� > � ��=���� 
���� ��

!��*G�� K(x)/K� 6- ��	����� ��H	��� � �	�� �� ������5�*+�

Op(x) =

{

f(x)

g(x)
; f(x), g(x) ∈ K[x], p(x) ∤ g(x)

}

,

���� �� ����	���� p(x) ∈ K[x] ������������ ;&�������� �
��� ?�� ���� ����

�	��B � �����

Pp(x) =

{

f(x)

g(x)
; f(x), g(x) ∈ K[x], p(x)|f(x), p(x) ∤ g(x)

}

,

> ��� N	�
� ����� ��/����� (�	��������� �
��� �� ����� �	�� �� ������5�*+�

O∞ =

{

f(x)

g(x)
; f(x), g(x) ∈ K[x], gr(f(x)) � gr(g(x))

}

,

?�� ��� 
��� ����� ��/����

P∞ =

{

f(x)

g(x)
; f(x), g(x) ∈ K[x], gr(f(x)) < gr(g(x))

}

.

3� ��������� ����� �+� �� N	�
�� �	>�� �� ������5�*G�� �� K(x) � ��� !��� >

�/������ 	� ���������


�����1� (:5:(: *� 7�

�� ������� �� K(x)/K ��� �� �� &���� Pp(x) � P∞ 
���

�

�� ����
����

 �+ ��,������

3���� ��*+� ��������� ����
������ 
�� � ��H	�*+� ��� ��������� �� �� 
����

�� !�	*G��B �� ?���� ���+� !�	����	���� ���� � 
�	����*+� �� ��
�	� ��� 
=��
��

?�� ���������� 	���� ���&�����


�9��+,� (:;:(: * ���
� ��
	
�� ����
��� �
��� #�� 	�� 
��� ���� �
��� �� �������

�� F/K  ����	��� 
�� DF �  
������ �� ���
� �� �
�
����� �� F/K� *�

������	�� �� DF ��� 
������� �� �
�
����� � ��� �� &����

D =
∑

P∈PF

nP P, 
�� nP ∈ Z� 7�

� � #���� ���
�� ����.



(:; 
�*�#���# ('

(������� �� #"6����  � "1  �*�#�� D � 
�	<�	�� ��� ��
���� P ����

?�� nP �= 0 � ��	������ ��� supp(D)� 0���� ���� ��������� D =
∑

nPP �

D′ =
∑

n′
P P � ���� ����� > ���� ���


D + D′ =
∑

P∈PF

(nP + n′

P )P.

� ����B ���� 
��� P ∈ PF B ��H	���� vP (D) = nP B ����� ���&>� �������

��H	�� ��� ����� ���
��� �� DF ���

D1 � D2 ⇔ vP (D1) � vP (D2), ∀P ∈ PF .

(������� �� 
��� �� �� ������� D �� 	N���� gr(D) =
∑

P∈PF
vP (D)gr(P ).

0�H	������ �
��� �� ��������� ���	
�����B �� ?���� ���5�� �������	��� 
�	�

��?U�	
��� ���� � ������� ������� ������B ��<� �� O7℄B ?�� �� x ∈ F �	�+� �

	N���� �� 5���� � �=��� �� x > H	��� � ���� !��� 	�� ���� � ��
��	�� ��H	�*+�



�9��+,� (:;:': ���� 0 �= x ∈ F � ����	���� 
�� Z � N � 
�����	� �� ����� �


���� �� x �� PF � ���
�
	
�����	�� ���
� ����
����

3� (x)0 =
∑

P∈Z vP (x)P � � �
�
��� �� ����� �� x4

5� (x)∞ =
∑

P∈N(−vP (x))P � � �
�
��� �� 
���� �� x4

9� (x) = (x)0 − (x)∞� � �
�
��� 
�
�


�� �� x�


�9��+,� (:;:.: "���
��� � !�"6�  �  �*�#���# 6���
�6��# �� F/K 
���

����� PF = {(x); 0 �= x ∈ F} ,��	�  �� ������
� �� DF ����� #�� 
��� 0 �=

x, y ∈ F, (xy) = (x) + (y)/� * #��

��	� CF = DF /PF  
������ ���
� ��


����� �� �
�
����� � �
����� #�� D  �#�
�����	� � D′� ����	���� 
�� D ∼ D′�

�� [D] = [D′]� 
�	�  � �� D′ = (x) + D 
��� ����� x ∈ F�

%
��� ����� ��H	�� �� ����*� �������� ����
���� � �� �������B � ?��� 	��

���- � ��H	�*+� �� ����	�+� ����� ������� � ���&>� �� �� �	�����	�� �����

�������	�� ���� � �������


�9��+,� (:;:5: 6��� �� �
�
��� A ∈ DF ����
��� � 
�����	�

L(A) = {x ∈ F ; (x) � −A} ∪ {0}.



(:; 
�*�#���# (.

��1� (:;:;: ���� A ∈ DF ��	�� 	����

�� L(A)  �� K−��
�$� ��	��
��� �� �
������ ��
	�4

�� �� A′ ∼ A ��	�� L(A′) ≃ L(A)�


�9��+,� (:;:): 6��� A ∈ DF � ����
��� � �
������ �� �
�
��� A 
��� �����

dim(A) = dimK(L(A))�

�����1� (:;:<: ����#��� �
�
��� 
�
�


�� 	�� ���� ����� 0�
� 
��

�����	�

���� x ∈ F \ K � (x)0, (x)∞ ����	���� �� �
�
����� �� ����� � 
����� ���
�
	
��'

���	�� �� �
�
��� �� x� ��	���

gr((x)0) = gr((x)∞) = [F : K(x)].

(��� 
�	��?U�	
�� �������� ����� ������� �����


��������� (:;:%: 3� ���� A, A′ �
�
����� 	�
� #�� A ∼ A′� ���
� 	���� #��

dim(A) = dim(A′) � #�� gr(A) = gr(A′)4

5� �� gr(A) < 0 ��	�� dim(A) = 04

9� 6��� �� �
�
��� A �� ���� ���� � 	���� #�� ��� �#�
�����	���

,�/ A  �� �
�
��� 
�
�


��4

,�/ dim(A) > 0;

,
/ dim(A) = 1.

% ������ �� �������*+� ?�� �	�
������� � ��
��� ��H	���� � 
�	��� �� ��


���� �� !�	*G�� ��
>&��
�� ?�� > �� �	�����	�� ?�� ����	�� ���	�� �� 
�����

���6�#�+,� (:;:2: 81
�	� ��� 
���	��	� γ ∈ Z 	�� #��� 
��� 	��� �
�
��� A ∈ DF

	���� #���

gr(A) − dim(A) � γ.


�9��+,� (:;:(?: "���
��� � �<���� �� 
��
� �� &��$2�� F/K 
��� �����

g = max{gr(A) − dim(A) + 1; A ∈ DF}.



(:) � �����1�  � 	��1���$	�
@ (5

; �������� ��������� �	�����	�� � 
�	��� �� �� 
���� �� !�	*G�� > � ��
��	��


�����1� (:;:(( �������� �� 1����		�: ���� F/K ��� 
��
� �� &��$2�� ��� '

��

�� 
�� �<���� g ��	���

3� 6��� #���#��� �
�
��� A ∈ DF � dim(A) � gr(A) + 1 − g4

5� 81
�	� �� 
�	�
�� c� ��
������� �� F/K 	�� #�� dim(A) = gr(A) + 1 − g

���
�� #�� gr(A) � c�

 �- � ������	 �� ����	�����
�

%?�� F/K ��	��� �� 
���� �� !�	*G�� ��
>&��
�� 
�� 
�	��� g�


�9��+,� (:):(: 6��� A ∈ DF ����
��� � !��

� �� ��
�

��
���� �� A 
���

������

i(A) = dim(A) − gr(A) + g − 1.

(��� �� �� � ������� �� 1����		 
���	�� ?�� � �	��
� �� ����
��������

�� �� ������� A > �	����� 	+� 	�
����� � 	� ������� 	=� ����� ������	��� i(A)


��� � ����	�+� �� 
����� ����*�� ���������� %���� ���� ���� 
���*���� 
�� ��

��H	�*G�� �&��/�



�9��+,� (:):': %� ����� �� F/K  ��� &��$��

α : PF → F

P �→ αP

	�� #�� αP ∈ OP 
��� #���� 	���� P ∈ PF � 6������ ��� �� ����� 
��� ��

������	� �� 
����	� �
��	�
∏

P∈PF
F � ������ � ��	�$�� α = (αP )P∈PF

� � 
���

��
��	��� α = (αP )�

(������� �� ����*� �� ������ �� F/K �� 
�	<�	��


AF = {α; α > ����� �� F/K}.


�9��+,� (:):.: 3� "���
��� 
��� ����� 
�
�


�� �� �� ������	� x ∈ F


��� ����� � ����� 
���� �� 
��
����	�� ��� 	���� 
���
� � x �� ���� �

��#=<�

� 
���	��	� (x)�



(:) � �����1�  � 	��1���$	�
@ (;

5� "��� P ∈ PF � x ∈ F � � ����� 
��� �� 
��
����	�� ��� ����� � ����� ��


��
����	� P � � #���  x� ���) ����	��� 
�� ιP (x)�


�9��+,� (:):5: � �� ����� α� ����

���� ��� &��$�� �� �����
��$�� �
�
��	�

���� 
��� vP (α) := vP (αP )�


�9��+,� (:):;: 6��� �� �
�
��� A ∈ DF ����
��� � 
�����	��

AF (A) = {α ∈ AF ; vP (α) � −vP (A), ∀P ∈ PF}.

4�
����	�� ���� �� ��� ?�� � 
�	<�	�� �
��� ��H	��� > �� K−��&����*�

�������� �� AF �

3� ��=/��� ������� �/���
������ �� ����*� �������� 
�<� � ����	�+� > �

�	��
� �� ����
�������� �� ������� A�

�����1� (:):): "��� �� �
�
��� A� � ��� !��

� �� ��
�

��
����  ���� 
���

i(A) = dimK(AF/(AF (A) + F )).

� 
��� 
�	��?U�	
�� �������� �����


��������� (:):<:

g = dimK(AF/(AF (0) + F )).

%
��� ������� � 
�	
���� �� ��!���	
���� �� V���B � ?��� 	�� ���- ���� �	!���

��*G�� ��&�� � �	��
� �� ����
�������� �� �� ��������


�9��+,� (:):%: %�� �
�

�$�� K−�
����� ω : AF → K� #�� �� ����� ��

AF (A) + F 
��� ����� �
�
��� A ∈ DF  �
	� �
&����

�� �� >�
� �� F/K �

"���	���� 
�� ΩF �� 
�����	� ��� �
&����

�
� �� >�
� �� F/K � 
�� ΩF (A) ��


�����	� �� �
&����

�
� �� >�
� �� F/K #�� �� ������ �� AF (A) + F �

; 
�	
���� �� ������� 
�	�	�
� > �� !�	����	��� ������R	
�� ���� � �������

�� 1����		�1�
� � ��� > ��H	��� � ������ �� ��=/��� ��H	�*+� � �� ���� ��
��	���


�9��+,� (:):2: 6��� �� �
&����

�� �� >�
� ω �= 0 ����
��� � 
�����	� ��

�
�
������

M(ω) = {A ∈ DF ; ω �� ����� �� AF (A) + F}.



(:) � �����1�  � 	��1���$	�
@ ()

��1� (:):(?: ���� ω ∈ ΩF , ω �= 0� ��	�� �1
�	� �� 7�

� �
�
��� W ∈ M(ω)

	�� #�� A � W 
��� 	��� A ∈ M(ω)�


�9��+,� (:):(( �0������ (�	�	�
��: 3� * �
�
��� (ω) �� �� �
&����

�� ��

>�
� ω �= 0  � �
�
��� �� F/K ��

����	� ��	���
���� 
���

,�/ ω �� ����� �� AF ((ω)) + F 4

,�/ �� ω �� ����� �� AF (A) + F ��	�� A � (ω).

5� 6��� 0 �= ω ∈ ΩF � P ∈ PF ����
��� vP (ω) = vP ((ω))4

9� %� ����� P  �
	� ���� ,���
� 
���/ �� ω �� vP (ω) > 0 ,���
� vP (ω) < 0/�

ω  
������ �� ������� �� P �� vP (ω) � 0� � �
�
������	� �� ������� ��

&�� ������� �� 	���� �� ������� �� PF 4

:� %� �
�
��� W  �
	� �
�
��� 
����

� �� F/K �� W = (ω) 
��� �����

ω ∈ ΩF �

���6�#�+,� (:):(': 3� 6��� 0 �= x ∈ F � 0 �= ω ∈ ΩF 	���� #�� (xω) =

(x) + (ω)4

5� ���
�#��� ��
� �
�
����� 
����

�� ��� �#�
�����	���

���� ��=/��� ������� ��� 	�� �������� 
��
���� � �	��
� �� ����
�������� ��

�� ������� ����� ��� ��5 
��� ����	�+� �� �� ����*� ����������

�����1� (:):(.: ���� A �� �
�
��� ���
	�)�
� � W = (ω) �� �
�
��� 
����

�

�� F/K� 8�	�� � �
�

�$��

µ : L(W − A) → ΩF (A)

x �→ xω
,

 �� 
��������� �� K−��
�$�� ?�	��
�
�� � ��
� i(A) = dim(W − A)�

�� H� 
��
���� �� ���	
���� ������� �� ������ ��> �?�� ������	�����

��������� (:):(5 �1����		�1�
��: ���� W �� �
�
��� 
����

� �� F/K� ���
�


��� #���#��� A ∈ DF 	���� #���

dim(A) = gr(A) + 1 − g + dim(W − A).



(:< �"�*�# ��!0���
�# (<

�����1� (:):(;: ����� A �� �
�
��� �� F/K �� ���� ��
�� �� 
���� #�� 2g−1�

	�����

dim(A) = gr(A) + 1 − g.

% ��=/��� ��H	�*+� 	�� ���- &����	�� N��� ���� � �	��	����	�� �� �� ��

	����� 
=��
���


�9��+,� (:):() �(����	�	�� A�
���: ���� �� �
&����

�� �� >�
� ω ∈ ΩF �

"���
��� � 
��
����	� ��
�� �� ω 
��� ����� � �
�

�$�� K − linear

ωP : F → K

x �→ ω(ιP (x))
.

#�&�� �� 
����	�	��� ��
��� ����� �� ��
��	��� ����������


���6�#�+,� (:):(<: ����� �� �
&����

�� �� >�
� ω ∈ ΩF � �� ����� α =

(αP ) ∈ AF � 8�	�� ωP (αP ) �= 0 �� �)1
�� �� ��
	�� ������� P � � ��
��

ω(α) =
∑

P∈PF

ωP (αP ).

8� 
��	

�����
∑

P∈PF

ωP (1) = 0.

; ��=/��� ��������� 	�� ������ ?�� �� ��!���	
��� �� V��� > �	�
���	��

�������	��� �� ����*+� ��� ���� 
����	�	��� ��
����

���6�#�+,� (:):(%: 3� ���� ω �= 0 �� �
&����

�� �� >�
� �� F/K� P ∈ PF

� W = (ω)� 8�	���

vP (W ) = max{r ∈ Z; ωP (x) = 0 
��� 	��� x ∈ F 
�� vP (x) � −r}.

5� �� ω, ω′ ∈ ΩF � ωP = ω′
p 
��� ����� P ∈ PF � ��	�� ω = ω′�

 �. ���,	� ��"/���
	�

3���� ��*+� ������	������� �� 
����� ��
>&��
�� � ��� ��
�*+� 
�� �� 
����� ��

!�	*G�� ��
>&��
���



(:< �"�*�# ��!0���
�# (%


�9��+,� (:<:(: ���� I �� 
���� �� F[x1, · · · , xn] ,���� �� 
��
���
�� �� n 
�'

��	���
����� 
�� 
���

��	�� ����� �� 
��
� F/� "���
��� � 
�����	� ��� ��

�

��	
�� � 
��	
� �� I 
��� ������

V (I) = {a = (a1, · · · , an) ∈ Fn; f(a) = 0, ∀f ∈ I}.

0�5���� ?�� �� 
�	<�	�� ��
>&��
� B > ����������� �� 	+� ���� ��� ��
����


��� �	�+� �� ���� ������ 
�	<�	��� ��
>&��
�� ��=������ ����� ?�� V (I) >

����������� ?��	�� � ����
�� �� I > ����� ������ ��� ��������� 	�� ���� �� ����

��H	�*G�� �&��/�



�9��+,� (:<:': 3� "��� �� 
���� 
�
�� I ⊂ F[x1, · · · , xn] � 
�����	� X = V (I)

 �
	� ���
����� ����

5� * ���� F[x1, · · · , xn]/I = F[X ]  �
	� ���� �� 
���������� �� X �


�9��+,� (:<:.: "��� ��� ���
����� ��� ��

� X ����
��� � 
��
� �� &��$2��

��

���
� �� X 
��� ����� � 
��
� �� &��$2�� �� ���� �� 
���������� F[X ] #��

 ����	��� 
�� F(X )�

2� ��������� 
�-���
� �� -�
�&�� 
��������� �������� �� 	������5�*+� ��

3������� 	�� ��5 ?�� ������� ��� � ����	�+� �� ��������� ��
>&��
� �� ��
��	��

!����



�9��+,� (:<:5: "���
��� � �
������ �� ���
����� X 
��� ����� � ���� ��

	����
���<�

� �� F(X )/F�

���� �� ��	�� P ∈ X B � 
�	<�	��

OP (X ) =
{

f ∈ F(X ); f =
g

h
, g, h ∈ F[X ] � h(P ) �= 0

}

,

> �� �	�� ��
�� ?�� ��� 
��� 
���� �� !��*G�� � ��=���� F(X ) � ���� � ��� �����

��/���� > ���� ���


MP (X ) =
{

f ∈ F(X ); f =
g

h
, g, h ∈ F[X ], g(P ) = 0 � h(P ) �= 0

}

.



(:< �"�*�# ��!0���
�# (2

����� ���������	 
����
���	


�9��+,� (:<:;: "��� �� 
��
� F� �� 
�����	� Fn+1 \ {0} ����
��� � ����'

$�� �� �#�
���<�

� ∼ ����
�� 
��� ����� ��
� ��	���� v = (v0, v1, · · · , vn) �

w = (w0, w1, · · · , wn) ∈ Fn+1 \ {0} ���� ��� �#�
�����	�� �� &���� �
�������	�

��
�����	�� ����� F� �� ����� v ∼ w ��� � �����	� ��� �1
�	� λ ∈ F 	�� #��

v = λw�

; 
�	<�	�� ?��
��	�� (Fn+1 \ {0})/ ∼ ��� 
������ �� �?������	
�� ��
�	�� �

����*+� ∼B > 
������ �#6�+� 6��A���*�  �  �1��#,� n � ��	����� ��� P
n(F)

� ���� �����	��� �+� ��	������ ��� (a0 : a1 : · · · : an)�


�9��+,� (:<:): "
����� #�� �� 
��
���
� F ∈ F[x1, · · · , xn]  �����<��� ��

���� &�� ���� �� �����
�� �� ����� ����� %� 
���� ������ 
�� 
��
���
��

�����<����  
������ �� � ��� @�1�!8����

;&����� ?�� ����� �� ��	�� P = (a0 : a1 : · · · : an) = (b0 : b1 : · · · :

bn) ∈ P
n(F) � �� ����	���� ����
�	�� F ∈ F[x0, · · · , xn] ������� ��H	��

F (P ) = 0 �� F (a0, a1, · · · , an) = 0B <- ?�� F (a0, a1, · · · , an) = 0 ��B � ����	�� ��B

F (b0, b1, · · · , bn) = 0� %����B ������� ��H	�� � ?�� ��<� ��� ��������� ��
>&��
�

���<������


�9��+,� (:<:<: %� ���
�����	� X ⊂ P
n(F)  �
	� ��� *���� � � ��!0���
�

6��A���*� �� &�� � 
�����	� �� ����� �� �� 
���� �����<��� I ⊂ F[x0, x1, · · · , xn]�

�� �����

X = V (I) = {P ∈ P
n(F); F (P ) = 0, ∀F ∈ I}.

2�� ��������� ��
>&��
� ���<����� X = V (I) > ����������� ��B � ����	�� ��B �

����� I !�� �� ����� ����
�	�� � � ��� ����
�� !�� ������

; �	�� �� 
�����	���� Fh[X ] = F[x0, · · · , xn]/I > ���� �	�� �� 
�����	����

����
�	��� � �� �����	��� ?�� �+� �� !������ f = F + I 
�� F ∈ F[x0, · · · , xn]

� F ����
�	��B�+� 
������� �� 7��1�  � !��" d �	�� d = gr(F )�

4������ �
��� � ����
��*+� �	��� �� 
����� ��
>&��
�� � �� 
����� �� !�	*G���


�9��+,� (:<:%: �� X  ��� ���
����� ��� ��

� 
����	
�� ����
��� � 
��
� ��

&��$2�� �� X 
��� ������

F(X ) =
{g

h
; g, h ∈ Fh[X ] &����� �� ����� ���� � h �= 0

}

.



(:< �"�*�# ��!0���
�# '?

% ����	�+� �� ��������� X > ���� ���� 
��� �� ���	�
�	��	
�� �� F(X )/F�


�9��+,� (:<:2: "��� �� 
��	� P ∈ X � f = g

l
∈ F(X ) 
�� g, l ∈ Fh[X ]�

�
����� #�� f ��	) ����
�� �� P �� l(P ) �= 0� f(P )  �
	� ����� �� f �� P �

; �	�� OP (X ) = {f ∈ F(X ); f > ��H	��� �� P} ⊂ F(X ) > �� �	�� ��
��


�� ����� ��/���� MP (X ) = {f ∈ OP (X ); f(P ) = 0}�


�9��+,� (:<:(?: ���� F ∈ F[x1, · · · , xn] 
�� ���� 	�	�� �� F 
���� � l� ����
'

��� � ��������
��$�� �� F 
��� ������

F ∗ = xl
0F

(

x1

x0
, · · · ,

xn

x0

)

.


�9��+,� (:<:((: %�� ���
����� 
����	
�� ,���/ X �� �
������ 3  
������

�� 
���� ��� ��

� 
�����	
��� 
����	
�� ,���/� "���� ���� � 
��
� �� &��$2��

��

���
� �� X � F(X )�  �� 
��
� �� &��$2�� ��� ��

�� �� ��� ���
)��� 
���

�� ����
$�� 3�9�3� 0�
� �
���� �
����� #�� � 
���� ��� ��

� 
����	
�� ,���/  


���� �� X ⊂ P
2(F) ,�� F2/�

����� �����	 ��� ���������	

A���	����� �� 
�	�� ?�� �� 
=��
�� 
���>���
�� �� ����� �+� 
������ �����


����� ���	�� 	+� ��	
������B � ��
��� ������	������� � ��H	�*+� �� 
����� 	+�

��	
�������


�9��+,� (:<:(': ���� X ��� 
���� ��� ��

� ����
�� 
��� 
��
���
� F ∈

F(x, y) � P �� 
��	� �� X � "
����� #�� � 
��	� P  �� 
��	� ��� �
������ ��


��� ����� ��� ��� ���
����� 
��

�
� �� F �
�

���� ����� 
��	�  ��� ����� ��

����� Fx(p) �= 0 �� Fy(P ) �= 0� �� 	���� �� 
��	�� �� 
���� &���� ��� �
��������

�
����� �
���� #�� � 
����  ��� �
������ ,�� �������/�

;&�������� ?�� �?�� ?�� � �������� ���
��� �� �� ����	���� > � ��� ��������

!������



�������� #

������� ���
���
�� ���	
���
��

3���� 
������� ������� �	���������� �� 
�	������ �� 
=��
�� ��
>&��
�� 
���>�

���
��B 
�	��
���� 
��� (=��
�� �� ����� ����>���
��B � �	�+� �/����� ���


��� ���� � ��� ����R	
�� ��	��� � 
��
���� ��� ����	�+�� %?�� Fq ��	����- ��


���� 
�� q �����	����

#� �!��"�� ��"/���
�� 0���/���
��


�9��+,� ':(:(: ���� Fq = {α0, · · · , αq−1} � 
���
���� � 
�����	�� Lk ⊂ Fq[x]�

��� 
��
���
�� 
�� ���� ����� #�� k � k � q� ����
��� �� 
��
�� �� @���'

������� �� 	������ n = q 
��� ������

Ck = {c(f) = (f(α0), · · · , f(αq−1)); f ∈ Lk}.

���6�#�+,� ':(:': ���� �

�� ����
��� Ck  �� 
��
�� 0"� ,0�1
��� "
�'

	��
� ��
������/� �� ����� 	�� �
�	��

� �!�
�� d = n − k + 1�

"�����	��$��� #�<� f ∈ LkB ����� ?�� f ��� 
��� 	� �-/��� k − 1B ����� f

������ 	� �-/��� k − 1 ���5�� �����	��� �� FqB ����� ���� � ���� �� c(f) > 	�

��	��� n − k + 1B �� ��<�B d � n − k + 1 	� �	��	�� ����� ?�� � ����	����

g(x) = (x−αi1) · · · (x−αik−1
) ∈ Lk ��� 
��� k−1 � ��� �/�����	�� k−1 ���5��

�����	��� �� FqB ����� ���� d(c(g)) = n − k + 1�

% ��
��� �����5������ �� ��
��	��� 	���*G��


'(



':( �/ �!�# ��!0���
�# ���10���
�# ''

⋆ F/FqB �� 
���� �� !�	*G�� ��
>&��
�� �� 
�	��� gW

⋆ P1, P2, · · · , PnB ��
���� �� 
��� � ���� � ���� �����	��� �� F/FqW

⋆ D =
∑n

i=1 PiB �� ������� �� F/FqW

⋆ GB �� ������� �� F/Fq ��� ?�� supp(G) ∩ supp(D) = ∅�

% ������ ��� 	���*G�� ����� �
��� � �� ��H	�*+� ��$��� ������� �� 
�	��*+� ��

��H	�� � ?�� ��� � ��� �� 
=��
� 
��>���
� �� ������


�9��+,� ':(:. �(=��
�� ����>���
�� �� ������: "���
��� � 
��
�� ��� ��

�

���� 	�

� ,
��
�� ���� 	�

� �� A�

�/ ����

��� ��� �
�
����� D � G 
���

������

C(D, G) = {c(x) = (x(P1), x(P2), · · · , x(Pn)); x ∈ L(G)}.

�����1� ':(:5: * 
��
�� �� A�

� C(D, G)  �� [n, k, d]−
��
�� 	�� #���

k = dim(G) − dim(G − D) � d � n − gr(G).

"�����	��$��� #�<� � ����
�*+� �� ������*+�

evD : L(G) → C(D, G)

x �→ c(x) = ((x(P1), · · · , x(Pn))
.

#�&���� ?�� evD > ��&��<����� ��
�
L(G)

Ker(evD)
≃ C(D, G)� T������� �
���

������� ?�� Ker(evD) = L(G − D)� #�<� x ∈ Ker(evD)B ����� ?�� ���� ����

Q ∈ PF vQ(x) � −vQ(G) � vPi
(x) > 0 ���� i = 1, · · · , n � ����B 
��� supp(G) ∩

supp(D) = ∅B ����� ?��B vQ(x) � −vQ(G)+vQ(D) ����� Ker(evD) ⊂ L(G−D)�

������� �
��� x ∈ L(G − D)B ����� ?�� vPi
(x) � −vPi

(G) + vPi
(D) = 1

���� i = 1, · · · , nB ��
� x ∈ L(G) � vPi
(x) > 0 �� ��<� x(Pi) = 0 �� FPi

� ?��

�����
� ?�� L(G − D) ⊂ Ker(evD) � ���� ������� ��� ������H���� �-�
�&��

��	���� 
�	
������ ?�� k = dim(G) − dim(G − D).

%
��� �
������� ��� 
��� ���� � ����R	
�� ��	��� �� 
=��
�� %����������

?�� C(D, G) �= {0}B ���� 
��� 
�	��-��� 	+� �������� ��� ����R	
�� 	+� 	����



':( �/ �!�# ��!0���
�# ���10���
�# '.

#�<� x ∈ C(D, G) ��� ?�� w(x) = dB ����� ����� ?�� �/���� y ∈ L(G) ���

?�� w(evD(y)) = dB ��� w(evD(y)) = d = #{i; y(Pi) �= 0}� #���	�� �
��� ?��

y(P1) = y(P2) = · · · = y(Pn−d) = 0B ������	�	�� �� PiX� 
��� 	�
���-���B ��
�

0 �= y ∈ L

(

G −
n−d
∑

i=1

Pi

)

⇒ dim

(

G −
n−d
∑

i=1

Pi

)

�= 0 ⇒

0 � gr

(

G −
n−d
∑

i=1

Pi

)

= gr(G) − n + d ⇒

d � n − gr(G).

��������� ':(:;: ��
���� #�� gr(G) < n ��	�� evD : L(G) → C(D, G)  


���	��� � �� 2g − 2 < gr(G) < n 	������ #�� k = gr(G) + 1 − g�

"�����	��$��� ����� ?�� gr(G−D) = gr(G)− n < 0B ��
� ���� ��L�F�"� {0} =

L(G − D) = Ker(evD) ��
� evD > �	<������ ���� ������� ��:��L ����� ?��

k = gr(G) + 1 − g�

����� ���������� �+� ��� ������*+� ���� � ��
��	�� ��H	�*+�



�9��+,� ':(:): (� 
��
�� ���� 	�

� �� A�

� C(D, G) 
������� �� �
�	��'



� ���
����� �� 
�	�
�� d∗ = n − gr(G)�

%� ��� ���� ��H	�*+� ���
� ��� ���
�	��
 T��	�� � ����R	
�� ����
	��� >

�
��� � ����R	
�� ��	��� �� 
=��
�Y 1����	������� ���� ���
�	�� 	� ��=/���

�������*+��

���6�#�+,� ':(:<: ���� C(D, G) �� 
��
�� 
�� �
�	��

� ���
����� d∗� ��
����

#�� dim(G) > 0 � #�� d∗ > 0� ��	�� d = d∗ ��� � �����	� ��� �1
�	� �� �
�
���

D′ 
�� 0 � D′ � D� gr(D′) = gr(G) � dim(G − D′) > 0�

"�����	��$��� #���	�� ?�� d = d∗� #�<� 0 �= x ∈ L(G) ��� ?�� w(evD(x)) = d�

%����B evD(x) = (x(P1), . . . , x(Pn))B ������	�	�� �� P ′
is 
��� 	�
���-���B �����

x(P1) = · · · = x(Pgr(G)) = 0. #�<� D′ =
∑gr(G)

i=1 PiB ��
� gr(D′) =
∑gr(G)

i=1 vPi
(D′) =

gr(G). %���� ����� ?�� 0 � D′ � D. ;&����� ?�� x ∈ Ker(evD′) ��
� 
��� 	�

����	����*+� �� ������� "���'B ������ dim(G − D′) > 0.



':( �/ �!�# ��!0���
�# ���10���
�# '5

T������� �
��� ����	����� � ��
�	�� ����� �� �������*+�� #�<� D′ ∈ DF

��� ?�� 0 � D′ � DB gr(D′) = gr(G) � dim(G − D′) > 0B �	�+� ����� ?�� �/����

y ∈ L(G−D′)B ����� ��	��B ����� ?�� � ���� �� ������� 
=��
� (y(P1), . . . , y(Pn))

> 	� �-/��� n − gr(G) = d∗B 
�	���� d > � ����R	
�� ��	��� 	� 
=��
� � ����B


��� ������� �	��������	�� d∗ � dB ��
� d = d∗�

%
��� ��H	������ � 
=��
� ?�� ���
�	����	�� !�� �	�����5��� ��� M� 0� �����

�� �EF� 	� ����
� I(���� �	 %�
�&���
 (�����J�


�9��+,� ':(:%: ���� G � D = P1 + · · ·+Pn �
�
����� �� F/Fq 
�� �� P ′
is ��
�

� ��
� �
����	�� � supp(G) ∩ supp(D) = ∅� "���
��� � 
��
�� CΩ(D, G) 
���

CΩ = {(ωP1
(1), . . . , ωPn

(1)) ∈ Fn
q ; ω ∈ Ω(G − D)}.

; ��=/��� ��������� ��� 
��� �&<����� 
���
����5�� � 
=��
� CΩ(D, G)� ,��

�	��� ����� ������	������� �� ���� �>
	�
��

��1� ':(:2: ����� F/Fq �� 
��
� �� &��$2��� P ∈ PF 
�� gr(P ) = 1 � ω ∈ ΩF

�� �
&����

�� �� >�
� 	�� #�� vP (ω) � −1� 8�	�� ωP (1) = 0 ��� � �����	� ���

vP (ω) � 0�

"�����	��$��� ⇐) �������� ����� ����� ?�� vP (ω) � 0B ��
� ���� �������*+�

��:��FB ����� ?�� ωP (x) = 0 ���� ���� x ∈ F 
�� vP (x) � 0B ����� ?�� 1 ∈

Fq ⊂ F ��
� vP (1) = 0 ����� ωP (1) = 0�

⇒) #���	�� �
��� ?�� ωP (1) = 0B ����� ����� ?�� ωP (a) = aωP (1) = 0 ����

���� a ∈ Fq� ���� ������� ��$��'B �/���� x ∈ F ��� ?�� vP (x) � 0B �� ��<� x ∈ OP �

(��� gr(P ) = 1 ����� ?�� OP /P = FqB ����� �/����� y ∈ P � a ∈ Fq ���� ?��

x − y = a � ����B vP (y) � 1 � vP (a) = 0� ��� ���=���� ����� ?�� vP (ω) � −1 �


��� vP (y) � 1B ���� �������*+� ��:��FB ����� ?�� ωP (y) = 0� %���� ����� ?��

ωP (x) = ωP (a + y) = ωP (a) + ωP (y) = 0B �� ��<�B vP (ω) � 0 �	�����	�� ����

�������*+� ��:��F��

��#��*�+,� ':(:(?: � 
��
��
$�� 3�B�3C ��� �����	� #�� vP (ω) � r ��� � ��'

���	� ��� ω(x) = 0 
��� 	��� x ∈ F 
�� vP (x) � −r�

%
��� �	�
������� � ������� ?�� 
���
����5� � 
=��
� CΩ(D, G)�



':( �/ �!�# ��!0���
�# ���10���
�# ';

�����1� ':(:((: * 
��
�� CΩ(D, G)  �� [n, k′, d′]−
��
�� 
�� 
�����	����

k′ = i(G − D) − i(G) � d′ � gr(G) − 2g + 2.

8 ��
�� �� gr(G) > 2g − 2� 	���� #�� k′ = i(G − D) � n + g − 1 − gr(G) � ��

2g − 2 < gr(G) < n ��	�� k′ = n + g − 1 − gr(G).

"�����	��$��� #�<� φ � ��
��	�� ����
�*+�


φ : ΩF (G − D) → CΩ(D, G)

ω �→ (ωP1
(1), . . . , ωPn

(1))
,

�&�����	�� φ > ��&��<�����B ��
� CΩ(D, G) > ������!� � ΩF (G − D)/Ker(φ)�

#�<� ω ∈ Ker(φ)B ����� ?�� ωPi
(1) = 0 ���� i = 1 . . . nB ����� ���� ����

"���EB vPi
(ω) � 0� (��� ω ∈ ΩF (G − D)B ����� ?�� (ω) � G − D� ;&�����

?�� �� P ∈ {P1, . . . , Pn} ����� ?�� vP (G) = 0 � vP (−d) < 0 � ����B ����

P /∈ {P1, . . . , Pn} ����� ?�� vP (−D) = 0 ����� ω ∈ ΩF (G)�

#�<� �
��� ω ∈ ΩF (G)B 	�����	�� ���� ���� "���E ����� ?�� vPi
(ω) �

vPi
(G) = 0B ��
� ω ∈ Ker(φ).

%���� ���� ������H��� ����� �
��� ����� ?��

k′ = dimFq
(ΩF (G − D)) − dimFq

(ΩF (G)) = i(G − D) − i(G).

#�<� φ(ω) ∈ CΩ(D, G)B ��� ������� 
�� ���� m > 0B ��� ����� �� 
�	��

�������� ������� ����� ?�� vP1
= · · · = vPn−m

B ����� ���� ����� ?�� ω ∈

ΩF (G − (D −
∑n−m

i=1 Pi))�

;&����� ?�� i(G − (D −
∑n−m

i=1 )) = dimFq
(G − (D −

∑n−m
i=1 )) � 
��� Ω(G −

(D −
∑n−m

i=1 )) �= {0} ����� ?�� i(G − (D −
∑n−m

i=1 )) > 0B ����� ���� dim(G −

(D−
∑n−m

i=1 )) > gr(G−(D−
∑n−m

i=1 ))−g+1 � ?�� > � 
�	��� �������� �� �������

��:��LB �����

2g − 2 � gr

(

G −

(

D −
n−m
∑

i=1

))

= gr (G) − gr

(

D −
n−m
∑

i=1

)

= gr (G) − m


�	
������ �	�+� ?�� m � gr(G) − 2g + 2B �� ��<�B d′ � gr(G) − 2g + 2�

%����� �
��� ?�� gr(G) > 2g − 2� ���� ������� ��:��LB ����� ?�� i(G) = 0B

����� k′ = i(G−D) = dim(G−D)− gr(G−D) + g − 1B 
��� dim(G−D) � 0

����� ?�� k′ � n + g − 1 − gr(G)�



':( �/ �!�# ��!0���
�# ���10���
�# ')

%
��� �� gr(G) < n ����� ?�� gr(G−D) = gr(G)−n < 0 ��
� ���� 
����-���

��L�F dim(G − D) = 0 ����� k′ = n + g − 1 − gr(G)�

; ��=/��� ������� ������ � ��
�*+� �	��� � 
=��
� 
���>���
� �� �����

�C(D, G)� � � 
=��
� ?�� �
�&���� �� ��H	�� CΩ(D, G)� 3�����	�� �	��� ��

������� ������	������� ���� �� ���� �>
	�
��

��1� ':(:(': ����� P ∈ PF 	�� #�� gr(P ) = 1� ω �� �
&����

�� �� >�
� 
��

vP (ω) � −1 � x ∈ F 
�� vP (x) � 0� ��	��

ωP (x) = x(P )ωP (1).

"�����	��$��� (��� gr(P ) = 1 ����� ?�� OP /P = FqB � !��� �� vP (x) � 0

	�� �- ?�� x ∈ OP B ��
� �/���� y ∈ P � a ∈ Fq ���� ?�� x − y = aB �&�����

?�� vP (a) = 0 � vP (y) � 1� (��� vP (y) � 1 ����� ?�� ωP (y) = 0B �����

ωP (x) = ωP (a + y) = ωP (a) + ωP (y) = aωP (1).

;&����� �
��� ?�� a > � 
����� �� �������� �� x �� ����*+� � P B ��
� ωP (x) =

x(P )ωP (1).

�� H� � ������� ?�� 	�� �- � ����*+� �	��� �� 
=��
���

�����1� ':(:(.: *� 
��
��� C(D, G) � CΩ(D, G) ��� ���
� ��	�� �
� �� �����

CΩ(D, G) = C(G, D)⊥.

"�����	��$��� �������� ����� ������� ?�� � ����	�+� ��� 
=��
�� �C(D, G)⊥

� CΩ(D, G)� �+� �
�����

���� ������� "����� ����� ?�� dim(CΩ(D, G)) = i(G−D)− i(G)B �
��� ����


����-��� ��:��' �1����		�1�
C� ����� ?�� i(G−D)− i(G) = dim(G−D)+ g−

1−gr(G−D)− (dim(G)+g−1−gr(G)) = dim(G−D)+gr(D)−dim(G) = n+

dim(G−D)− dim(G)B ���� ������� "���' ����� ?�� dim(C(D, G)) = dim(G)−

dim(G − D)B ����� dim(CΩ(D, G)) = dim(C(D, G)⊥)�

%
��� ����������� ?�� CΩ(D, G) ⊂ C(D, G)⊥B � ?�� ��� 	�� 
���	��� � �
����

���� ����<����

#�<� ω ∈ ΩF (G − D) � x ∈ L(G)�  ��	��H
�	�� x 
��� �� ����� ���	
��

��� ����� ?�� 0 = ω(x) =
∑

P∈PF
ωP (x) ����� �������*+� ��:��7�� ���� P ∈



':' �����1�  � �0=�"� '<

PF \{P1, . . . , Pn} ����� ?�� vP (x) � −vP (ω)B �	�+� ���� �&�����*+� "����9 �����

?�� vP (x) = 0B �����
∑

P∈PF
ωP (x) =

∑n
i=1 ωPi

(x)� %
��� ���� ���� "����" ���

��� ?��
∑n

i=1 ωPi
(x) =

∑n

i=1 x(Pi)ωPi
(1) = 〈(ωP1

, . . . , ωPn
), (x(P1), . . . , x(Pn))〉B


�	
���	�� �	�+� ?�� CΩ(D, D) ⊂ C(D, G)⊥�

#�# ������	 �� �/����

3���� ��*+� H
������ � ��� �� ������� �� .>5���B � ?��� !��� ��&�� � 	N����

�� �	�����*G�� �	��� 
����� ��
>&��
�� � ���&>� � ��
������ � ������ �� 
=��
��B

!�
� ����� ���&�����

�����1� ':':( �������� �� .>5����: ����� X � Y ���� 
����� ��� ��

�� 
��'

��� 
�����	!��
� �� ���� l � m ���
�
	
�����	� ����� �� 
��
� ������

����	�

&�
���� F 	�
� #�� ���� ��� 	����� ��� 
��
����	� �� 
����� ��	�� � �7����

�� 
��	�� �� 
�	����$�� ��	�� �� 
�����  �1�	����	� lm ,
��	��	� �� 
��	�� 
��

���� ���	

�


�����/�

"�����	��$��� % ����	����*+� ����� ��������� 	+� ���- 	� �&<����� ����� ��/��B


�	���� ��� �� �	
�	��� �� O�℄�

���6�#�+,� ':':': ����
������� �� 
��
���
� G ∈ Fq[x, y] 
�� ���� 	�	�� m

	�� #�� ��� &���� �����<��� G∗ ����� ��� 
���� 
�����	!��� ��� �
������ X �

��	�� G  
�����	!��� �� F[x, y]� ���� F  � &�
�� ��� ��

� �� Fq�

"�����	��$��� ���� 	���� ��H	�*+� X > ��� 
���� 
����� ��� �� ����� �����

I ⊂ F[x, y, z] � ���� I = 〈G∗〉� A�
� G∗ > ����������� �� F[x, y, z]� %
��� ��	��

G∗ ����������� � ����	��B ��� �&�����B ?�� G ��<� ��������� ����� ?�� G = fh


�� gr(f) < gr(G) � gr(h) < gr(G)B ��
� ����� ?�� G∗ = (fh)∗ = f ∗g∗ ?�� >

���������B �&�����B ����� ����� ?�� G > ����������� �� F[x, y]�


�9��+,� ':':.: ���� X ��� 
���� ����
�� ����� Fq� 
�	�  � �� �#��$2�� #�� �

����� 	�� ���� 
���

��	�� �� Fq� *� 
��	�� �� X #�� 	�� 	���� �� 
����������

�� Fq ��� �
	�� 
��	�� ��

���
��

#�<� Vl � ����*� �������� �� ����	����� �� 
��� ����� 	� �-/��� lB �� ����

����-���� x, y � 
�� 
��H
��	��� �� Fq� (�	������ G �� ����	���� 
��� � ��



':' �����1�  � �0=�"� '%

�������*+� "�"�" ��� �����
����B � 
��� ����� �� G > m�B P1, P2, · · · , Pn ��	���

��
��	��� �� 
���� ��H	��� ��� G� 0�H	���� � 
=��
� C ���


C = {(f(P1), f(P2), · · · , f(Pn)); f ∈ Vl}.

�����1� ':':5: �� �� 
��
�� C� ����
�� �

�� 	��'�� #�� n > lm� ��	�� 
���

��� �
�	��

� �!�
�� d � ��� �
������ k ��� ����� 
���

d � n − lm;

k =

{

(

l+2
2

)

, �� l < m;

lm + 1 −
(

m−1
2

)

, �� l � m.

"�����	��$��� �������� ?������� �	
�	���� � ����	�+� �� ����*� �������� Vl

?�� ��� 
��� &��� � 
�	<�	�� !������ ���� ��	����� �� 
��� ��	�� �� �
��� � lB


�	<�	�� ���� ?�� ��� 
����	������� �
��� �
∑l

i=0(l+1)−i =
2(l + 1)2 − (l + 1)l

2
=

(l + 1)(l + 2)

2
=

(

l+2
2

)

B ����� � ����	�+� �� Vl >
(

l+2
2

)

�

#�<� F ∈ VlB �� G !�� �� !���� �� F ����� ?�� � ������� 
�������	��	�� � F 	�


=��
� > 5���� %
��� ���� ��� ������� 	��� 	� 
=��
� � F ∈ Vl � ����	���� ?��

� 
��� ����� ?�� � 
���� Y ��H	��� ��� F = 0 � G = 0 ��� 
��� l′ � l � l′ � m

� ����B ����� ?�� P1, · · · , Pn ���+� 	� �	�����*+� �� Y 
�� X � ; ������� ��

.>5��� 	�� 
���	�� ?�� �� Y � X 	+� ��� �� !���� �� 
���� � 	N���� �� ��	���

	� �	�������+� > ��	�� �� �
��� � l′m � lmB ��� ��� ���=���� n > lmB ��
� F ���

G 
��� ��� !����� %���� ����� ?�� �� !�	*G�� �� Vl ?�� 
���� � ������� 5��� >

�� ��&����*� �������� �� ����	�+� l − m ���� ��� GVl−m = {GH ; H ∈ Vl−m}�

#� l < m ����� ?�� Vl−m = ∅ ��
� � ����	�+� �� 
=��
� > ���� ��� k =
(

l+2
2

)

�

(��� 
�	��-���B ������� ?�� k =
(

l+2
2

)

−
(

l−m+2
2

)

= lm + 1 −
(

m−1
2

)

.

%
��� ?������� ����	����� ?�� � ����R	
�� ��	��� �� 
=��
� > d � n − lm�

0� !���B ��<� w ∈ C ��� ������� 	+� 	���B ����	�� ?�� w ��� ���� ?�� lm


�����	���� 	����� #�<� F ∈ Vl �� ����	���� ?�� 
��� wB ������� � 
���� Y

��H	��� ��� F = 0B 
��� gr(F ) � l ����� ?�� gr(Y) � l ��
� #Y ∩ X � lmB

���� ������� �� .>5���� (�� �� �������� ������	���	�� ��� 
�����	���� ��

w ������� ����� ?�� F (P1) = F (P2) = · · · = F (Plm) = · · · = F (Pj) = 0B

���� 	���� 
�	����*+� ����� ?�� {P1, · · · , Pj} ⊂ Y ∩ X � A�
� j � lmB �����

d � n − lmB 
��� ?�������� ����	������



�������� $

������� �� �%�������

���� 
������� ���- ����
��� � 
�	����*+� ��� 
=��
�� �� ������*+��

%� ���()�� ����1 0�	� � �����


�9��+,� .:(:(: ���� R = F[x1, · · · , xm] � ���� �� 
��
���
�� � m ���
)��
�

����� � 
��
� F� ��
���� #�� �1
�	� ��� ����� 	�	�� ≺ �� 
�����	� �� �����
��

�� R 	�� #�� 
��� #��
�#��� �����
�� M1, M2 � M 	���� #���

3� �� M �= 1� ��	�� 1 ≺ M 4

5� �� M1 ≺ M2� ��	�� MM1 ≺ MM2�

���
� �
����� #�� ≺  ��� ����� �� ���
���� �� ����� �� ����$�� �� ����'

�
���

3� ?�� ��
�� R > ��� F−-�
�&��B �� ��<�B �� �	�� 
��������� 
�� �	�����

��� ?�� F ⊂ R 
��� ��&�	��� � ����B � ���&��� −∞ > ��� ?�� ���� ���� n ∈

N0 ∪ {−∞}B −∞ + n = −∞�


�9��+,� .:(:': %�� &��$�� ρ : R → N0 ∪ {−∞}� #�� ��	
�&�� �� 
��
�
������

���
1�  
������ �� 7"�+,� �� �1�

3� ρ(f) = −∞ ��� � �����	� ��� f = 04

5� ρ(λf) = ρ(f) 
��� 	��� λ ∈ F \ {0}4

'2



.:( �"�+-�# ��#�B ���" � �� �1 .?

9� ρ(f + g) � max{ρ(f), ρ(g)} � � 
��������  �)�
�� #����� ρ(f) �= ρ(g)4

:� �� ρ(f) < ρ(g) � h �= 0� ��	�� ρ(fh) < ρ(gh)4

;� �� ρ(f) = ρ(g) �= 0� ��	�� �1
�	� λ ∈ F \ {0} 	�� #�� ρ(f − λg) < ρ(g)�

�� �� � ������ 
��
�
������ ρ 	��� � ��	
����� � 
��1
�� � 
���������

�� &��$�� 
����

B� ρ(fg) = ρ(f) + ρ(g).

�3�16�� .:(:.: 2� �������� �/����� �� ��� !�	*+� ���� > � !�	*+� 
��� ��

����	����� 	� �	�� �� ����	����� �� ��� ����-��� F[x]�


�9��+,� .:(:5: %�� &��$�� ���� �� R  ��� &��$�� #�� ��	
�&�� �� 
��
�
�'

����� 3� 5� 9� : � B �� ����
$�� 9�3�5�

M�<���� �
��� �� ��������� ?�� 	�� ���5 ������������ ���� �� !�	*G�� ������

��1� .:(:;: ���� ρ ��� &��$�� ����� �� R� ��	�� 	�����

3� �� ρ(f) = ρ(g), ��	�� ρ(fh) = ρ(gh) 
��� 	��� h ∈ R4

5� �� f ∈ R \ {0}, ��	�� ρ(1) � ρ(f)4

9� F = {f ∈ R; ρ(f) � ρ(1)}4

:� �� ρ(f) = ρ(g)� ��	�� �1
�	� �� 7�

� ��
���� ��� ���� λ ∈ F 	�� #��

ρ(f − λg) < ρ(g)�

"�����	��$��� % ����	����*+� ����� ���� ����- ��������	�� �� ��H	�*+� ��

!�	*G�� ������

��� #�<� ρ(f) = ρ(g)B ����� ?�� �/���� λ ∈ F ��� ?�� ρ(f − λg) < ρ(g)B

��
� ρ(fh − λgh) < ρ(gh)� ������� ��
����� fh = (fh − λgh) + λghB �����

ρ(fh) = ρ(λgh) = ρ(gh).

�"� #���	�� ��� �&����� ?�� f ∈ R > �� �����	�� 	+� 	��� ��� ?�� ρ(f) <

ρ(1)B �	�+� � 
����� ρ(1) > ρ(f) > ρ(f 2) > · · · > ���������	�� ��
���
�	��B

�&�����B ���� N0 ∪ {−∞} > &�� ����	����



.:( �"�+-�# ��#�B ���" � �� �1 .(

�$� (������	�� F ⊂ H = {f ∈ R; ρ(f) � ρ(1)}B �
��� ��<� f �= 0 ��� ?��

ρ(f) � ρ(1) �	�+� ρ(f) = ρ(1)B ����� �/���� λ ��� ?�� ρ(f − λ) < ρ(1)B ��
�

f − λ = 0 �� ��<� f ∈ F�

�'� ���� ��H	�*+� �� !�	*+� �����B ����� � �/����	
�� �� λB !���� ����� ����

���� � �	�
������ #���	�� ?�� λ, ν ∈ F �+� ���� ?�� ρ(f−λg) < ρ(g) � ρ(f−νg) <

ρ(g)� �	�+� ����� ?�� ρ(f −λg− (f −νg)) � max{ρ(f −λg), ρ(f −νg)} < ρ(g)�

%���� ����� ?�� ρ((λ−ν)g) < ρ(g) � ?�� �����
� ?�� λ−ν = 0� %���� λ = ν�

2�� �������� 
�	��?U�	
�� ��&�� � ��������� �� �� �	�� R 
�� ��� !�	*+�

����� > ���� 	� ��
��	�� �������*+�


���6�#�+,� .:(:): �� �1
�	� ��� &��$�� ������ ρ� �� R� ��	�� R  �� ���!�
�

�� 
�	���
�����

"�����	��$��� #���	�� ?�� �/����� f, g ∈ R \ {0} ���� ?�� fg = 0B ��� �����

�� 
�	��������� ����������� ?�� ρ(f) � ρ(g)B ����� ρ(f 2) � ρ(fg) = ρ(0) = −∞

��
� ρ(f 2) = −∞B ���� >B f 2 = 0� (��� f �= 0B ����� ?�� ρ(1) � ρ(f) � ρ(f 2)B

�&������ A�
� fg �= 0 ����� R > �� ����	���

%
��� ������	������� �� �/����� 
�� � ?��� ����������� ?�� � ��
����
�

�� �������*+� $���: > !�����

�3�16�� .:(:<: % F−-�
�&�� R = F[x, y]/〈xy − 1〉 > �� ����	��B ��� 	+� ���

��� !�	*+� ������ 0� !���B ��	���	�� ��� x � 
����� �� �?������	
�� x+〈xy−1〉 �

��� y � 
����� y+〈xy−1〉� (��� R > �� ����	�� ����� ?�� x �= 0 � y �= 0� #�	��

ρ ��� !�	*+� ����� �� R ����� ?�� ρ(1) � ρ(x) � ����� ρ(y) � ρ(xy) = ρ(1)B

�� ��<�B ρ(y) = ρ(1)B �	���
���	�� �
����� ?�� ρ(x) = ρ(1)� ;&����� ?��

R = F[x] + F[y] � ����� ���� ���� f ∈ R 
�	
������ ?�� ρ(f) � ρ(1)B �� ��<�B

R = FB 	� �	��	�� x /∈ FB �&������

% ��
��� ����������� ?�� ���� ��� F−-�
�&�� R 
�� ��� !�	*+� �����B

���� ������ ��� F−&��� 
�� I&���J �������������

�����1� .:(:%: ���� R ��� F−)������ 
�� ��� &��$�� ����� ρ� F �= R�

8�	���
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3� 81
�	� ��� F−����� {fi, i ∈ N}� 
��� R 	�� #�� ρ(fi) < ρ(fi+1) 
��� 	���

i ∈ N4

5� �� f =
∑m

i=1 λifi 
�� λi ∈ F � λm �= 0� 	���� #�� ρ(f) = ρ(fm)4

9� ���� l(i, j) := l � 
�	�
�� 	�� #�� ρ(fifj) = ρ(fl)� ���
�� l(i, j) < l(i + 1, j)


��� 	��� i, j4

:� ���� ρi := ρ(fi)� �� ρ  ��� &��$�� 
��� ��	�� ρl(i,j) = ρi + ρj�

"�����	��$��� ��� ����� ?�� �/���� f ∈ R 
�� f /∈ FB ���� R �= FB �����

ρ(1) < ρ(f) � ?�� 	�� �- ?�� ρ(fn) < ρ(fn+1) ���� ���� n ∈ N0� ,��� ��	��B

� 
�	<�	�� ��� ������� �� ρ > �	H	���� #�<� (ρi)i∈N � ��?U�	
�� 
���
�	�� ��

�	������ 	+� 	�
������ ���� ?�� �� ρ′
is �+� ����� �� ������� �� !�	*+� �����B ����

>B ρ(R \ {0}) = {ρi; i ∈ N}� ��� ��H	�*+�B ���� ���� i ∈ N �/���� �� fi ∈ R ���

?�� ρ(fi) = ρi ����� ρ(fi) < ρ(fi+1)� � ����B ���� 	���� 
�	����*+�B ���� ����

f ∈ R \ {0} �/���� �� fi ��� ?�� ρ(f) = ρ(fi)� ;&�������� ?�� ρ1 = ρ(1)� %
���

!���� ������� ?�� B = {fi; i ∈ N} > ��� &���� (������	�� B > �� 
�	<�	��

��	�����	�� �	����	��	��B ��������� ?�� ��� 
��� R�

#�<� f ∈ R ����� ?�� �/���� �� fk ∈ B ��� ?�� ρ(fk) = ρ(f) � ?�� 	��

�- ?�� �/���� λk ∈ F �� ���� ?��B ρ(f − λkfk) < ρ(fk)B 	�����	�� ����� ?��

�/���� fh 
�� h < k ��� ?�� ρ(f − λkfk) = ρ(fh) � 
�	��?U�	����	�� �/���� λh

��� ?�� ρ(f − λkfk − λhfh) < ρ(fh)B ���� ���
���� ���� �
�&�� �� 	� �-/��� k

��5�� ���� ����� ���	�� k − 1 ρ′
is ��	���� ?�� ρk� %���� 
��
������ �� ρ(f −

∑k−1
i=0 λk−ifk−1) < ρ(1)B �&����� ?�� ��
�	� ��� λ′

is ?�� �����
�� �?�� ����� ���

	����B ρ(f −
∑k−1

i=0 λk−ifk−1) = −∞ � ?�� 	�� �- ?�� f =
∑k−1

i=0 λk−ifk−1B �����

B > ��� F−&��� �� R�

�"� ���� �/����	
�� �� &��� �
��� � � !��� �� ?�� ρ(f + g) = max{ρ(f), ρ(g)}

�� ρ(f) �= ρ(g)B ������ �"��

�$� (��� ρ(fi) < ρ(fi+1) ����� ?�� ρ(fifj) < ρ(fi+1fj) ��
� l(i, j) < l(i+1, j).

�'� #�	�� ρ ��� !�	*+� ���� ����� ?�� ρ(fg) = ρ(f) + ρ(g)� %���� ρl(i,j) =

ρi + ρj �
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%�# �!��"�� �� �,	��	(2�

3���� ��*+� �	�����5������ � 
�	
���� �� 
=��
� �� ������*+�� ���&��������� �?��


�� �� 
���� H	��� 
�� q �����	���B Fq� %�>� �����B �?�� R > ��� Fq−-�
�&��


�� !�	*+� ����� ρ ��� ?�� ������ ��� &���B {fi; i ∈ N}B �� ���� ?�� ρ(fi) <

ρ(fi+1) ���� ���� i ∈ N�

T������� ���	�!����� � ����*� �������� Fn
q �� ��� -�
�&�� � ���� ���� ����


������ ��H	�� ��� ��������
�*+� �� �������B ����� ��H	������ � ��������
��

*+� ∗ 
��� ��	�� � ��������
�*+� ����� �� 
�����	����B �� ��<�B ����� a =

(a1, · · · , an), b = (b1, · · · , bn) ∈ Fn
q ����� ?�� a ∗ b = (a1b1, · · · , anbn)�


�9��+,� .:':(: "���
��� 
�� Ll � ��
�$� ��	��
�� ������ 
�� f1, · · · , fl�


�9��+,� .:':': ���������� �� 1��9#1�  � Fq−��!����#� � ��� &��$��

Fq−�
����� ϕ : R → Fn
q � 	�� #�� ϕ(fg) = ϕ(f) ∗ ϕ(g)�

%
��� ��H	������ �� 
=��
� �� ������*+� � � ��� 
=��
� �����


�9��+,� .:':.: ���� Ll � ��
�$� ��	��
�� 
��� �

�� ����
�� � ϕ �� �������

��	�� Fq−)�������� ���
� ����
��� � 
/ �!�  � �*����+,� El ��	���
���� 
��

ϕ� 
��� ����� � 
����� �� Ll 
�� ��
� �� &��$�� ϕ� �� �����

El = ϕ(Ll) = 〈ϕ(f1), · · · , ϕ(fl)〉.

"���	������ 
�� Cl � 
��
�� ���� �� El�

;&����� ?�� � ��?U�	
�� �� 
=��
�� (El)l∈N > 
���
�	�� ��
�	�� � �	
���+�B �

����B 
��� � ����*� �� 
��
��� �� !�	*+� ϕ ��� ����	�+� H	��� ����� ?�� ����

��?U�	
�� ����&���5� 	�� 
���� N �

���&��������� �?�� ����	�� 
�� �� ���H���� ��&��<�������

�3�16�� .:':5: #�<�� R = Fq[x1, . . . , xn]/IB �	�� I > �� ����� �� �	�� ��

����	����� Fq[x1, . . . , xn]B P = {P1, . . . , Pm} �� ��&
�	<�	�� 
�� m ��	��� ��

V (I)B 
�	��������� � !�	*+� �� ������*+�


evP : R → Fm
q

f + I �→ (f(P1), . . . , f(Pm))
.



.:. � ���� �� �1 .5

;&����� ?�� evP ���- &�� ��H	���B ���� ���� P ∈ V (I) ����� ?�� �� f + I =

g + I �	�+� f − g ∈ IB ��
�B (f − g)(P ) = 0B �� ��<�B f(P ) = g(P )B � ����B �����

���� ��H	��� evP > �� ���H��� �� Fq�-�
�&���B ����� ?�� fg(P ) = f(P )g(P )B

���� ����� f, g ∈ R � P ∈ Fn
q �

��1� .:':;: � &��$�� �� ����
�$�� �

�� ����
��  �������	
���

"�����	��$��� #�<�� Pj = (aj1, . . . , ajm) � �� 
�	<�	��� ��/������� Ail =

{ajl; j = 1, . . . , m} \ {ail}� 0�H	���� �� ����	�����

Gi =

n
∏

l=1

∏

a∈Ail

(xl − a).

����� ?�� Gi(Pj) = 0 ������ ?�� i �= jB � ���� Gi(Pi) �= 0� ;� ����	�����

Gi/Gi(Pi) ?��	�� ����
���� �� evP 
��
�� 	� &��� 
�	�	�
� �� Fn
q ����� evP >

��&��<������

%�% � ���	 �����

2� ��� ���	
����� ���R������ �� ��� 
=��
� > � ��� ����R	
�� ��	���B 
�	�

����B	� ������� ��� ��5�� > ��!�
�� �� ��� 
��
�����B ����� ���	���� �������	�� ��


���� ���� ���� ����R	
�� ��	���� 3���� ��*+� ������� �	���������� �� �	
�	����

��� 
��� �	!����� ���� � ����R	
�� ��	��� �� 
=��
� Cl�

(�	��	������� � ���� �� 	���*G�� �� ��*+� �	������B ���&��	�� ?�� N > �

��	�� 	������ ��� ?�� � ��?U�	
�� �� 
=��
�� �� ������*+� El ����&���5�� ;�

���H���� �����5���� ���+� ��&��<�������

0�H	���� �?�� ��� N × n �����5 H 
�� � i−>���� ��	�� ��	�� hi = ϕ(fi)

�	�� fi �+� �� �����	��� �� &��� 
�	������� �	��������	�� � ϕ > � ���H��� ��

Fq−-�
�&��� �����5��� �?���


�9��+,� .:.:(: ���� y ∈ Fn
q � ����
������� �� �
������� si(y) = 〈y, hi〉 �

sij(y) = 〈y, (hi ∗ hj)〉� 8�	�� � ��	�
� S(y) = (sij(y); 1 � i, j � N)  � ��	�
�

�!������ �� y�



.:. � ���� �� �1 .;

��1� .:.:': ���� y ∈ Fn
q � D(y) � ��	�
� �
������ 
�� �� 
���������� �� y ��

��� �
������� ��	��

S(y) = HD(y)H t,

� ��
�

posto(S(y)) = w(y).

"�����	��$��� ����� ?�� sij(y) = 〈y, (hi ∗hj)〉 =
∑

l ylhilhjlB � ����B ��	���	��

C = S(y)B ����� ?�� Cij = HikykH
t
kj = HikykHjkB ��
� � �
������� > �-�����

%
��� � ����� �� D(y) > <������	�� � ���� �� y� (��� � !�	*+� ϕ > ��&��<�����

����� ?�� � �����5 H ��� ����� �-/���B �� ��<�B ����� �� H > n� %���� �����

?�� � ����� �� S(y) > � ����� ����� �� D(y) 
��� ?���������


�9��+,� .:.:.: ���� l ∈ N0� ����
��� � 
�����	� Nl = {(i, j) ∈ N2; l(i, j) =

l + 1}� ���� l(i, j)  � �7���� ��	���� ����
�� �� 
	�� 9 �� 	������ 9�3�C� �

��� 
���
���
���� ����	������ 
�� νl�

��1� .:.:5: �� t = νl � (i1, j1), . . . , (it, jt)  � �������$�� ��� ������	�� �� Nl

�� ����� 
���
��	� ������� � ����� ��1

���)�
�� �� N2 � 8�	�� i1 < i2 < · · · <

it � jt < jt−1 < · · · < j1� �� � �
���� �� y ∈ Cl \ Cl+1 	���� #�� siujv
(y) = 0 ��

u < v � siujv
(y) �= 0 �� u = v�

"�����	��$��� ���� ����� �� ��?U�	
�� ����� ?�� i1 � i2 � · · · � itB ����	��

��� �&����� ?�� ik = ik+1� 0���� ���� ����� ?�� jk < jk+1 ��
�

l + 1 = l(ik, jk) < l(ik, jk+1) = l(ik+1, jk+1) = l + 1

�&�����B ��
� � ��?U�	
�� > ���������	�� 
���
�	���

%
��� ����	�� ?�� jk � jk+1B 	�����	�� ����� ?��

l + 1 = l(ik, jk) � l(ik, jk−1) > l(ik−1, jk−1) = l + 1,

����� �&�����B ����� ���� ��?U�	
�� > ��
���
�	���

#�<� y ∈ ClB �� u < v ����� ?�� l(iu, jv) < l(iv, jv) = l + 1B ����� fiufjv
∈ Ll

� ����� ���� hiu ∗ hjv
∈ ElB ��
� siujv

(y) = 〈y, hiu ∗ hjv
〉 = 0� 0� ����� ���� ��

�/���� (a, b), (c, d) ∈ N2� (a, b) < (c, d) �� a < c �� a = c � b < d�
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u = v ����� ?�� l(iu, jv) = l + 1 � ?�� 	�� �- ?�� hiu ∗ hjv
∈ Ll+1 \ LlB � ����B

fiufjv
≡ µfl+1modLl ���� ��
�� 0 �= µ ∈ Fq� %���� hiu ∗ hjv

≡ µhl+1modElB


��� y /∈ Cl ����� ?�� sl+1(y) = 〈y, hl+1〉 �= 0 ���� 〈hi, y〉 = 0 ���� 1 � i � l �

hl+1 /∈ Cl. %���� siujv
(y) �= 0�

;&�������� ?�� � �����5 muv = siujv
(y) 
�� 1 � u, v � νl 
��� �� ����

�
���B > ��� �����5 ?������� �� ����� νlB � ����B (muv) > ��� ��&������5 ��

S(y)B ��
� � ����� �� S(y) > ����� �� �
��� � νl�  ��� <�	����	�� 
��� �� �����

$�$�" � $�$�' ����	����� � ��
��	�� �������*+�


���6�#�+,� .:.:;: �� y ∈ Cl \ Cl+1� ��	�� w(y) � νl�

0�H	������ �
��� ��
���� 
���� ����
��	���� ��� 
=��
�� �� ������*+��


�9��+,� .:.:): ���������� �� 
�	� ����� ��� �7�����

d(l) = min{νm; m � l},

dϕ(l) = min{νm; m � l, Cm �= Cm+1}.

�����1� .:.:<: *� �7����� d(l) � dϕ(l) ��� 
�	�� 
�&��
���� 
��� � �
�	��

�

�!�
�� �� Cl� 0�
� �
���� d(Cl) � dϕ(l) � d(l).

"�����	��$��� ���� �������*+� $�$�L ����� ?�� d(Cl) � νl � dϕ(l).

%�& 
���"��'��

3���� ��*+� !�������� �� ����
����� � � ��� ����
��*+� ��� 
=��
�� �� ������*+��


�9��+,� .:5:(: %� ���
���
� ��� �

�  �� ���
�����	� Λ �� N0 
�� ��

����
�	�� 
��
�
�������

3� Λ  &�
���� 
��� ��
$��4

5� 0 ∈ Λ�

*� ������	�� �� N0\Λ ��� 
������� �� ��
���� � � #���	
���� ������ ������	��

���) ����	��� 
�� g = g(Λ) ,�#�
 g 
��� ��� 
���
	�/�
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#���	�� �
��� ρ > ��� !�	*+� ���� �� ��� Fq−-�
�&�� RB ��� $���"�: �����

?�� � 
�	<�	�� Λ = {ρ(f); f ∈ R, f �= 0} > �� ����
���� 	��>��
� 
������ ��

#�1�!�"6�  � ρ � #� g < ∞B �	�+� �/���� �� n ∈ Λ ��� ?�� �� x ∈ N � n � x

�	�+� x ∈ Λ� %� ��	�� n 
�� ���� ����������� 
������� �� 
����	�� �� Λ �

��	������ ��� c = c(Λ)� ;&����� ?�� c − 1 > � ����� ��
�	� �� Λ ����� ?��

g > 0�


�9��+,� .:5:': ���� (ρl)l∈N ��� �������$�� �� ���
���
� Λ 	�� #�� ρl < ρl+1


��� 	��� l� "���	���� 
�� g(l) � �7���� �� ��
���� ������� #�� ρl�

��1� .:5:.: ����� Λ �� ���
���
� 
�� ��
	�� ��
���� � l ∈ N� ��	���

3� g(l) = ρl − l + 14

5� ρl � l + g − 1� ������� � 
�������� ��� � �����	� ��� ρl � c4

9� �� l > c − g� ��	�� ρl = l + g − 14

:� �� l � c − g� ��	�� ρl < c − 1�

"�����	��$��� ��� ; �����	�� ρl ∈ Λ > � (ρl + 1)−>���� �����	�� �� N0 � ����B

��� > � (ρl + 1 − g(l))−>���� �����	�� �� Λ� %���� l = ρl + 1 − g(l)B �� ��<�B

g(l) = ρl + 1 − l�

�"� #� g(l) � g ����� ?�� ρl + 1 − l � gB ��
� ρl � g − 1 + lB �� ρl � c �����

?�� ����� �� ��
�	�� �+� ��	���� ?�� ρl ��
� g(l) = g ����	�� ����� � �
��������

�$� ����� ?�� c > � (c+1)−>���� �����	�� �� N0 � ����B > � (c+1−g)−>����

����� �� Λ�B ����� c = ρc+1−g� ����	�� l > c − g ������� ρl � ρc+1−g = c �

����B 
�	��
����� ����� ρl = g − 1 + l�

�'� #�<� l � c − gB ����� ρl � l + g − 1 � c − 1� (�	���� c − 1 > �� ��
�	�

�� > 	�
������ ���� c = 0 	+� ��� ��	���� � �������*+�B �	�+� ����� ?�� c− 1 >

�� ��
�	�B ����� ρl < c − 1�

% ��=/��� �������*+� 	�� ���5 �� ��������� ��&�� � 
�	����� �� �� �����


���� 	��>��
� ?�� ��� �	Z��	
��� �� ��� �������	�� ��H	�*+��

���6�#�+,� .:5:5: ���� Λ �� ���
���
� ��� �

� 
�� �7���� �� ��
���� g <

∞� ��	�� c � 2g � � 
��������  �)�
�� ��� � �����	� ��� 
��� 	��� ��
��� s

	���� #�� c − 1 − s ���  �� ��
����
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"�����	��$��� ;&�������� ?�� �� ����� (s, t) ∈ N2
0 ���� ?�� s + t = c − 1B ����

!��� �� c − 1 ��� �� ��
�	� � �� Λ ��� !�
���� �� ����*+� � ����B ��� ����

��	�� �� ��� ���� ������ �� 
��� ��� 
��� �� ��
�	�� (��� ����� c �����

������B ����	�� �� 
�	������*+� � �����B ����� ?�� �/����� ���� ��	��

[

c + 1

2

]

��
�	��B ��
� c � 2g�

%
��� �� � �
������� > �-����B ����� ?�� g =
c

2
����� ����� s, t ∈ N0 ���� ?��

s + t = c − 1 ����� ?�� ���	�� �� ��� ���� �s �� t� > �� ��
�	�B ��
� ��	�� s

�� ��
�	� c − 1 − s 	+� ���� ��� ��
�	��

#���	�� ?�� �� s !�� �� ��
�	� ����� ?�� c − 1 − s 	+� >B ���� 	�� �- ?��

���	�� �� ��� ������ ��� ����� (s, t) ���� ?�� s + t = c − 1 > �� ��
�	�B �����

����� �/�����	��
c

2
��
�	���

; ��������� �	������ <����H
� � ��
��	�� ��H	�*+�



�9��+,� .:5:;: %� ���
���
� ��� �

�  
������ �
� 	�

� �� c = 2g�


�9��+,� .:5:): "
����� #�� �� ���
���
� ��� �

�  ��
	����	� ������ ��

�1
�	� �� 
�����	� A = {a1, . . . , ak} ⊂ Λ 	�� #�� ���� λ ∈ Λ 	���� #�� �1
�'

	�� x1, . . . , xk ∈ N0� 	�
� #�� λ =
∑k

i=1 xiai� ���
� &������ #�� A ���� Λ �

��
������� Λ = 〈A〉�

% �������� �� ��&
����� 	��>��
�� H	�����	�� 
������ � �������� ���������

?�� ������	����� >


���6�#�+,� .:5:<: ����� a, b ∈ N 	�
� #�� mdc(a, b) = 1� * ���
���
� ������


�� a � b  �
� 	�

�� 	�� 
��� 7�	
�� ��
��� � �7���� ab − a − b� 
��� ���


����	�� � �7���� (a− 1)(b− 1) � � �7���� 	�	�� �� ��
����  (a− 1)(b− 1)/2�

"�����	��$��� (��� mdc(a, b) = 1B ����� ?�� ���� �	����� m ���� ��� ��
����


��� m = xa + ybB �� ��	���� N	�
� 
�� 0 � y < b�

���� !��� �
��� �&�������� ?�� � ����� ��
�	� �������� > (b−1)a−b � �� !���

���� 	N���� > �� ��
�	�B ���� 	+� > �������� ��
������� 
��� (b−1)a−b = xa+yb


�� x, y ∈ N0B ����� ����� ?�� � 
�	����� > c = (b−1)a− b+1 = (a−1)(b−1)�

%
��� ��������� ?�� � ����
���� > ���>���
�� #���	����� ��� �&����� ?��

� ����
���� 	+� ��<� ���>���
�B �� ��<�B �/���� s, t ∈ N ��
�	�� ���� ?�� s+t = c−1
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�	�� c > � 
�	������ ������� ��
����� s = x1a+y1b � t = x2a+y2bB ����� �����

?�� c−1 = ab−a− b = (x1 +x2)a+(y1 +y2)b� ;&����� ?�� 0 � x1 +x2 � 2b−2

� ���� y1 + y2 � −2� 0���� ��
�� ?��


D = (−y1 − y2 − 1)b = (x1 + x2 − b + 1)a ⇒

0 < b � (−y1 − y2 − 1)b = (x1 + x2 − b + 1)a � (b − 1)a < ba

(��� mdc(a, b) = 1 ����� ?�� a|(−y1 − y2 − 1) � ?�� b|(x1 + x2 − b + 1)B �����


��
���� ?�� 0 <
D

ab
< 1B �&�����B ��
� Λ > ���>���
��

(��� � ����
���� > ���>���
� ����� ?�� c = 2gB ��
� g = (a−1)(b−1)/2�

4������ �
��� ���� �� ���� �>
	�
� ��&�� ����
������

��1� .:5:%: ����� Λ �� ���
���
� ��� �

� 
�� ��
	�� ��
���� � s ∈ Λ�

8�	�� 	���� #�� #(Λ \ {s + λ; λ ∈ Λ}) = s�

"�����	��$��� #�<� c � 
�	����� �� ΛB T = {t ∈ N0; t � s+c}B 
������	�� �����

?�� T ⊂ ΛB � ����B T ⊂ s + Λ = {s + λ; λ ∈ Λ}� #�<� U = {u ∈ Λ; u < s + c}B

����� ?�� #U = s + c− gB ��>� ����� Λ = U ∪ T � #�<� V = {v ∈ s + Λ; s � v <

s + c}B ����� ?�� #V = s + c − g − s = c − gB � ����B s + Λ = V ∪ T � ;&�����

?�� �� �	�G�� �
��� �+� ���<�	��� � ����B V ⊂ U � %���� ����� ?��


#(Λ \ s + Λ) = #(U ∪ T \ V ∪ T ) = #(U \ T ) = s + c − g − (c − g) = s.

(��� ?�������� ����	������

2�� 
�	��?U�	
�� ?���� �������� ����� ���� >


���6�#�+,� .:5:2: ���� f �� ������	� ��� ���� �� ��� Fq−)������ R 
�� ���

&��$�� 
��� ρ� 8�	�� dimFq
(R/〈f〉) = ρ(f)�

"�����	��$��� #�<�� Λ � ����
���� �� !�	*+� ���� ρ � s = ρ(f)� ������� �

��?U�	
�� (ρi)i∈N ��� �����	��� �� Λ �� ����� 
���
�	��� ���� ����������� $���"�

: ����� ?�� � ���
�� ��� �����	��� 	+� 	���� �� ����� 〈f〉 ��
�	�� � !�	*+�

ρ > � 
�	<�	�� s + Λ� (��� !���� �	���B ���� ���� ρi ∈ ΛB �/���� �� fi ∈ R

��� ?�� ρ(fi) = ρi � 
��� ρi ∈ s + Λ ������� ����� fi ∈ 〈f〉� ;� 
�	<�	���

{fi; i ∈ N} � {fi; i ∈ N, ρi ∈ s + Λ} !����� ��� &��� ���� � -�
�&�� R � �
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����� 〈f〉 �����
������	��B ���� ����	����*+� �� $���F� 0���� ���� �� 
������ ��

�?������	
�� fi �=���� 〈f〉 
�� i ∈ N � ρi ∈ Λ \ (s + Λ) !����� ��� &��� ����

� ?��
��	�� R/〈f〉� %���� � ��� ����	�+� > � 
����	������� �� &��� ?�� > s ����

���� $�'�FB �� ��<�B ρ(f)�


�9��+,� .:5:(?: ���� R = Fq[x1, . . . , xn]/I� ���� I  �� 
���� �� ���� ��


��
���
�� Fq[x1, . . . , xn]� 
��� f + I ∈ R �
����� #�� P ∈ Fn
q  �� ���� ��

f + I� �� P ∈ V (I) � f(P ) = 0�

��1� .:5:((: ���� R ��� Fq−)������ ��
	� 
�� ��� &��$�� 
��� ρ� ���� f ∈ R

�� ������	� ��� ����� 8�	�� � �7���� �� ����� �� f  �� �)1
�� ρ(f)�

"�����	��$��� #�<� P � 
�	<�	�� �� 5���� �� f � t = #P� % !�	*+� �� ������*+�B

evP : R → Ft
qB > ��� !�	*+� ��	��� � ���� ���� $�"�L ����� ?�� evP > ��&��<������

 ��� 	�� 
���	�� ?�� R/Ker(evP) ≃ Ft
q� ;&����� ?�� 〈f〉 ⊂ Ker(evP) � ����	��

��&�� 
��� ��&�����*� �������� �� R ����� ?�� dimFq
(〈f〉) � dimFq

(Ker(evP))�

%���� ��
�� ?�� t = dimFq
(R/Ker(evP)) = dimFq

(R) − dimFq
(Ker(evP) �

dimFq
(R) − dimFq

(〈f〉) = dimFq
(R/〈f〉) = ρ(f) ��� $�'�E�

%�+ �!��"� �� �,	��	(2� 3�	 
���"��'��

%?�� ������� �	���������� �� �	
�	���� ��� 
��� ���� � ����R	
�� ��	��� ���


=��
�� �� ������*+� El�

3���� ��*+� ������ ����� ?�� ρ > ��� !�	*+� ���� �� R = Fq[x1, . . . , xm]/IB

�	�� I > �� ����� �� Fq[x1, . . . , xm] ��	�� �� ����	����� �� m ����-������ #�<�

(ρi)i∈N � �	�����*+� �� ����
���� �� ρ �� ����� 
���
�	��� ������� P 
���

�� 
�	<�	�� 
�� n ��	��� �� 
�	<�	�� V (I) ���������� ��
>&��
� 
����� ��� I��

% !�	*+� �� ������*+� evP : R → Fn
q 	�� ��H	� �� 
=��
�� �� ������*+�

El = {evP(f); f ∈ R, ρ(f) � ρl}.

�����1� .:;:(: � �
�	��

� �!�
�� �� 
��
�� El  ��
�� �� 
���� � n− ρl� ��

ρl < n� 	���� #�� dimFq
(El) = l.
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"�����	��$��� #�<� c ��� ������� 
=��
� 	+� 	��� �� ElB �	�+� �/���� f ∈ R\{0}

��� ?�� ρ(f) � ρi � c = evP(f)� ����� ?�� ci = f(Pi) ���� ���� 0 < i < n + 1B

�	�� �� ciX� �+� �� 
�����	���� �� ������� cB ���� ���� $�'��� ����� ?�� � 	N����

�� 5���� �� f > 	� �-/��� ρ(f) � ρlB ����� w(c) � n − ρl�

%
��� ����	�� ?�� ρl < n� ����� ?�� El > � ���
�� �� ����*� ��������

Ll �����>� �� !�	*+� evP � #� f ∈ Ll � evP(f) = 0 �	�+� f ��� ���� ��	�� n

5����B ��� ���� ���� $�'��� �� f > 	+� 	��� �	�+� f ������ 	� �-/��� ρ(f)

5����B 
�	���� ρ(f) � ρl < nB ����� f ��� �� ��� 	���B 
�	
������ ����� ?��

Ker(evP |Ll
) = {0}B � ?�� 	�� �- ?�� dimFq

(El) = dimFq
(Ll)B ���&����� ?�� Ll >

� ����*� �������� 
����� ���� 
�	<�	�� {f1, . . . , fl}B ��
� ��� ����	�+� > lB �����

dimFq
(El) = l�

��������� .:;:': ���� ρ ��� &��$�� 
��� 
�� g ��
����� �� ρk < n� ��	�� Ek

 �� [n, k, d]−
��
�� 	�� #�� d � n + 1 − k − g�

"�����	��$��� ���� ������� $�L�� ����� ?�� d � n − ρk� %
��� ���� ���� $�'�$

����� ?�� ρk � k + g − 1B ����� ��
�� ?�� d � n + 1 − k − g.



�������� &

�'�	����

���� 
������� ���- ����
��� � ������	��*+� �� ��
�	� �/������ ��� 
=��
�� ?��

	���� ��/�� !���� ��H	����� %� 	���*G�� �?�� �����5���� �+� 	� ������� �� ������

�� 
������� $B �� ��<�B R ��	����- ������ ��� Fq−-�
�&��B ρ ��� !�	*+� ����B

l(i, j)B � �	����� ��� ?�� ρ(fifj) = ρl(i,j)B �	�� {f1, f2, . . .} > ��� Fq�&��� ���� RB

��
�

&� 4� �������� �5��'��

���� �������� ������� �� 
������� ��� 	�� �������� 
���	��� � �/����	
�� �� !�	*G��

����� � ���� �� �������	���� 
�	��*G���

�����1� 5:(:(: ����� R ��� F−)������ � {f1, f2, . . .} ��� F−���� �� F−��
�$�

��	��
�� R� 
�� f1 = 1� ������ �
���� (ρi)i∈N ��� ��#=<�

� ��	�
	����	� 
���'


��	� �� 
�	�
��� ��� ����	
��� � ρ : R → N0 ∪ {−∞} � &��$�� ����
�� 
��

ρ(0) = −∞ � ρ(f) = ρi �� f �= 0 � i &�� � ����� 
�	�
�� 	�� #�� f ∈ Li� ����

Li  � F−�����
�$� ��	��
�� ������ 
�� {f1, . . . , fi}� �� 
��� 	��� (i, j) ∈ N2

	��'�� #�� l(i, j) < l(i + 1, j)� ��	�� ρ  ��� &��$�� ����� �� ��
� �
���� ��

ρl(i,j) = ρi + ρj� ��	�� ρ  ��� &��$�� 
����

"�����	��$��� 0�������	�� �� ��H	�*+� �� !�	*+� ρB ����� ?�� ��� �����!�5 ��


�	��*G�� �B "B $ � L ���� ��� ��� !�	*+� ����� ,���������� ?�� ��� ���&>�

�����!�5 �� ������ ���� 
�	��*G�� �' � :��

5'
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���� f ∈ R\ {0}B ����
����� � 	N���� ι(f)B � ?��� > � ��	�� �	����� ��������

��� ?�� f ∈ Lι(f)� 0���� f, g ∈ R \ {0} ����� ?��

f =
∑

i�ι(f)

λifi, g =
∑

i�ι(g)

νifi fg =
∑

i�ι(fg)

µifi � fifj =
∑

l�l(i,j)

ηijlfl.


�� λι(f) �= 0, νι(g) �= 0, µι(fg) �= 0 � ηijl(i,j) �= 0�

;&����� ?��

fg =

⎛

⎝

∑

i�ι(f)

λifi

⎞

⎠

⎛

⎝

∑

j�ι(g)

νjfj

⎞

⎠ =
∑

i�ι(f)

∑

j�ι(g)

λiνjfifj =

∑

i�ι(f)

∑

j�ι(g)

λiνj

∑

l�l(i,j)

ηijlfl =
∑

i�ι(f)

∑

j�ι(g)

∑

l�l(i,j)

λiνjηijlfl,

����� ����� ?��

µl =
∑

l(i,j)=l

λiνjηlfl.

��� ���=���� ����� ?�� l(i, j) < l(i + 1, j)B ����� l(i, j) < l(ι(f), ι(g)) �� i <

ι(f) �� j < ι(g)� #���	�� i = ι(f) � j = ι(g)B ����� ?�� µιfg = λiνjηijl(i,j) �= 0B

� ?�� 	�� 
���	�� ?�� ι(fg) = l(ι(f), ι(g))�

%
��� ����� f, g, h ∈ R \ {0}B 
�� ρ(f) < ρ(g)B ����� ?�� ρ(fh) = ρι(fh) =

ρl(ι(f),ι(h)) < ρl(ι(g),ι(h)) = ρι(gh) = ρ(gh)B ��
� � 
�	��*+� ' > ����H
��� � ρ > ���

!�	*+� ������

%
��� ������	�� ?�� ρl(i,j) = ρl + ρj B ����� ?�� ρ(fg) = ρι(fg) = ρl(ι(f),ι(g)) =

ρι(f) + ρι(g) = ρ(f) + ρ(g). ;� ��<�B � 
�	��*+� : ���&>� > �����!���� ��	�� �	�+�

ρ ��� !�	*+� �����

�3�16�� 5:(:': #�<� X � 
���� ��H	��� ���� ����	���� P (x, y) ∈ Fq[x, y]B

P (x, y) = xm + ym−1 + G(x, y)B 
�� grtotal(G(x, y)) < m − 1� (��� P (x, y)

> �� ����	���� �����������B ����� ?�� � �	�� R = Fq[x, y]/〈P (x, y)〉 > �� �����

	�� �� �	��
������ � ����B R > ��� Fq−-�
�&��� %����B 
�	������� R � ��	���	��

��� x, y �� 
������ �� �?������	
��� x+ 〈P (x, y)〉 � y + 〈P (x, y)〉B �����
������	��B

����� ?�� R ������ ��� !�	*+� ����B ρB ��� ?�� ρ(x) = m − 1 � ρ(y) = m�

"�����	��$��� ; 
�	<�	�� B = {xαyβ ∈ R; α < m}B > ��� Fq−&��� ����

R� 0� !���B �������� �&�������� ?�� xm = −ym−1 − GB � ���� h ∈ R �����
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?�� h = h(x, y) + 〈P (x, y)〉 � ����B h(x, y) =
∑a

i=0

∑b

j=0 λijx
iyjB 
�� λab �= 0�

���� ����	����� ?�� B 
��� R ����� ����� ��� ����� �� 
�	��������� ?��

h(x, y) > �� ��	����B ����� ?�� 	� �-/��� ��� > ��� ���� �� ��	�����B �����

h(x, y) = xaybB �� a < m ����� ?�� h(x, y) ∈ B ����� 	+� ����� � ?�� !�5��B

����	�� �	�+� a � m�

������� ��
����� a = km + c 
�� c < aB ����� xayb = xcyb(−ym−1 − g)kB

����� ?�� xcyb+k(m−1) ∈ B � �� ������ ��	����� �� xcyb(−ym−1 − g)k ��� 
���

�� x ��	�� ?�� aB ��
� ������	�� ���� ���
���� ��
��������	�� ���� �� ������

����� ?�� h > ��
���� 
��� 
��&�	�*+� ��	��� �� �����	��� �� B�

%
��� ?������� ������� ?�� B > �� 
�	<�	�� ��	�����	�� �	����	��	��� #�<�
∑

λijx
iyj = 0 ��� ���� H	��� �� �����	��� �� BB �?������	����	�� �����������

����
∑

λijx
iyy = f(x, y)P (x, y) ���� ��
�� f(x, y) ∈ Fq[x, y]B ����� ?�� ��

f(x, y) �= 0B grx(f(x, y)P (x, y)) > m � ����B grx (
∑

λijx
iyy) < m ��
� � �
�������

	+� > �-����B ��	�� f(x, y) = 0 ����� ?�� �� λ′
ij� �+� 	����B ���� ����� ��	�����

�+� ��	�����	�� �	����	��	��� �� Fq[x, y] ����� B > ��� Fq−&��� ���� R�

#�<� {f1, f2, f3, . . .} ��� �	�����*+� �� 
�	<�	�� B� ���� fi = xαyβ ��H	����

ρi = α(m − 1) + βm� #�	�� D = {(a, b) ∈ N2
0; a < m}B � !�	*+� ϕ : D → N0B

��� ?�� ϕ(a, b) = a(m − 1) + bmB > �	<�����B <- ?�� mdc(m, m − 1) = 1 � a < mB

����� �� i �= j ����� ?�� ρi �= ρj�

1�����	�	�� �� ���
���B ����������� ?�� � ��?U�	
�� (ρi)i∈N > ���������	��


���
�	���

#�<� fi = xαyβ � fj = xγyδB 
�� α < m � γ < m� #�
��	�� �� 	���*G��

�� ������� �	������B ?������� ������� ?�� l(i, j) < l(i + 1, j) � ���� ���� �����

������� ?�� ρl(i,j) = ρi+ρj � #���������� �� " 
����B α+γ < m � m � α+γ < 2m�

�� #� α + γ < mB ����� ?�� fifj ∈ BB ��
� fifj = fl(i,j)B �	�� l(i, j) > � ��	��

�	����� lB ��� ?�� fifl ∈ Ll = 〈f1, . . . , fl〉B ����� ρl(i, j) = ρi + ρj �

"� %
��� ����� ����� α + γ � mB ����� α + γ = m + ǫ 
�� 0 � ǫ < m�

������� n = β + δB ����� ?��

fifj = (xαyβ)(xγyδ) = x(m+ǫ)y(β+δ) = xǫyn(−ym−1 − g) =

−xǫy(n+m−1) − xǫyng.
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;&����� ?�� xǫy(n+m−1) ∈ B � ����B �� �������� fl = xǫy(n+m−1) �����

?��

ρi + ρj = (α + γ)(m − 1) + (β + δ)m = (m + ǫ)(m − 1) + nm =

ǫ(m − 1) + (m − 1 + n)m = ρl.

2� ��	���� �� G 
�� 
��H
��	�� 	+� 	��� > �� !���� xκyλ 
�� κ �

grx(G) = d � κ + λ < m − 1�

#� (ǫ, η), (κ, λ) ∈ N2
0, ǫ < m, κ � d, κ + λ < m − 1 � ρl = ǫ(m − 1) + (m −

1 + n)mB �	�+� xǫ+κyη+λ ∈ Ll−1� 0� !���B ����������� ���� 	�� ���� 
����

?�� ��
����

��� #� ǫ+κ < mB �	�+� xǫ+κyη+λ ∈ B � ����B (η +λ)m+(ǫ+κ)(m−1) <

ǫ(m − 1) + (η + m − 1)m = ρlB �����B xǫ+κyη+λ ∈ Ll−1�

�&� %
���B �� ǫ + κ � mB ����� ?�� ǫ + κ = m + ǫ′ 
�� ǫ′ < ǫB ����

κ � d < m � ǫ < m� 0� ����� ���� !�5���� η + λ = η′� %����

xǫ+κyη+λ = xm+ǫ′yη′

= −xǫ′ym−1+η′

− xǫ′yη′

g.

;&����� ?�� ρl′ = ǫ′(m−1)+(m−1+η′)m = (m+ ǫ′)(m−1)+η′m =

(ǫ+κ)(m−1)+(η+λ)m < ρlB ����� fl ∈ Ll−1B � ����B ��
��������	��

������� ������� ?�� xǫ′yη′

g ∈ Ll−1�

%���� ��������� ?�� �� fifj ∈ Ll(i,j) �	�+� ρl(i,j) = ρi + ρj �

0���� ���� ���� ������� '����B ����� ?�� R ������ ��� !�	*+� ���� � ?��

���� �� ���� ?�� !�� 
�	������� > 
����� ��� m − 1 � m�

�3�16�� 5:(:.: #�<� X � 
���� ��H	��� 	� �/����� '���"� ; ����
���� 	��

�>��
� 
����� ���� !�	*+� ���� ρB �� ����� �/�����B ��� g =
(

m−1
2

)

��
�	���

#�<�� Q �� 
�	<�	�� �� n ��	��� ��
��	��� �� X � k ��� ?�� ρk = lmB 
��

(l > m, � lm < n)� ; 
=��
� �� ������*+� C = EkB �������	��� ��� evQB > ��

[n, k, d]−
=��
� 
��B d � n − lm � k = lm + 1 − g = lm + 1 −
(

m−1
2

)

�

"�����	��$��� ����� ?�� � ����
���� �������	��� ρ > 
����� ��� m � m − 1�

%����B ���� �������*+� $�'�7B ����� ?�� g =
(

m−1
2

)

� ���� ������� $�L��B �����
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?�� d � n − lm� %
���B �� ���� $�'�$��� ��
�� ?�� ρk = k + g − 1B �����

k = lm − g + 1�

3��� ?�� � ����	�+� � � 
��� �	!����� ���� � ����R	
�� ��	��� �� 
=��
� ��

N����� �/����� � �� 
=��
� �� ������� "�"�' �+� �
�����

�� �-���� ����
�� �	
�	������ ��!���	
��� ��� 
=��
�� 
���>���
�� �� �����

��	�����B 
=��
�� �� !���� C(D, mQ)B �	�� Q > �� ��	�� ��
��	�� � m ��

�	������ ;� 
=��
�� �� ������*+� ?�� �?�� 
�	�������� !���� ��������� 
��� ��

���� �� ������ ��� 
=��
�� �� ����� ��	����� �� ���� �������� % ���	
����

��	������� ?�� �� 
=��
�� �� ������*+� 
�	���������� �� �� ����� ��	�����B ���

��
�	����	�� !��� ������� ?�� ���� > !����� 3�� �/������ ?�� ��
��� !�5����

��� ����
��*+� ��� 
=��
�� 
���>���
�� �� ����� ��	����� ��� �� ������*+��

3� ����� %�
�&���
 4�	
���	 4����� �	� (���� �� @�		�	 #��
���	���B �-
�	�

��$B ����� �� �/����� �� �� 
���� �� !�	*G�� 	� ?��� � 
�	��� > ���� ���B

g = (m − 1)/2 
��� m ��<� ����� � g = (m − 2)/2 
��� 
�	��-����

�3�16�� 5:(:5: #�<�� K �� 
���� H	��� �� 
���
�������
� ��!���	�� �� "B X

� 
���� ��H	��� ��� y2 = f(x) = p1(x) · · · ps(x) ∈ K[x]B �	�� p1(x), . . . , ps(x)

�+� ����	����� ��	�
�� ������������ �����	��� �	��� ��B s � 1 � F � 
���� ��

!��*G�� �� �	�� �� 
�����	��� �� X � %���� K > � 
���� �� 
�	���	��� �� F � ��

m = gr(f(x)) !�� ����� ����� ?�� � 
�	��� �� F > (m − 1)/2�

%
��� ��<�� P, P1, . . . , PnB ���
�� �� 
��� � ���� � ���� ���<�	���B D = P1+· · ·+

PnB G = lmP �� ������� �� F/KB m < gr(G) = lm < n � supp(G)∩ supp(D) =

∅� �	�+� � 
=��
� 
���>���
� �� ����� C(D, G) ���H	�*+� "���$� ��� ���R������B

k = lm + 1 − (m − 1)/2 � d � n − lm�

4������ �
��� � 
�	����*+� �� �� 
=��
� �� ������*+��

�3�16�� 5:(:;: #�<�� K �� 
���� H	��� 
�� 
���
�������
� ��!���	�� �� "B

f(x, y) = y2+g(x) �� ����	���� �� K[x, y] ��� ?�� g(x) ∈ K[x]B X � 
���� ���	�


����� ��� f(x, y) � m = gr(g(x)) �����B �� �����
���� f(x, y) > ������������ 4�*�

R = K[x, y]/〈f(x, y)〉� %���� R > ��� K−-�
�&�� ?�� ������ ��� !�	*+� ����B

ρB 
����� ��� " � m�
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"�����	��$��� 0�	�������� ��� h Q 
����� h + 〈f(x, y)〉 �� R� ; 
�	<�	�� B =

{xbya; a < 2} > ��� K−&��� ���� R� 0� !���B �&����� ?�� ���� ��� ����

H	��� �� !����
∑

λabx
bya = 0B �������� �� K[x, y] � �
�������

∑

λabx
bya =

h(x, y)f(x, y)B ���� ��
�� h(x, y) ∈ K[x, y]B 
�	���� gry(h(x, y)f(x, y)) � 2

�	?��	�� gry

(
∑

λabx
bya

)

< 2B ����� B > �� 
�	<�	�� ��	�����	�� �	����	��	���

,�������� �
��� ?�� B 
��� R�

[ ��H
��	�� ������� ?�� B 
��� �� �����	��� �� !���� ycxdB ���� ����� ����

��	��� �� R �+� ����� �� �����	��� ����� ����� #� c < 2 ����� ?�� ycxd ∈ BB

�� ��<�B 	+� ��� � ?�� !�5��B ����� ����� �
��� ?�� c � 2�

������� �	�+� ��
����� c = a + 2k 
�� a < 2B ����� ycxd = yaxdg(x)
k
B ����

y2 = g(x)B ��
� B > ��� K−&��� �� R�

�	�������� B 
��� {f1, f2, . . .}� %
��� ��	�� fi = yaxb ∈ BB ��H	����

ρi = 2b + amB �&����� ?�� 2b + am = 2b̃ + ãmB 
�� a, ã < 2 ��B � ����	��B

a = ã � b = b̃B ����� ?�� mdc(2, m) = 1B ����� ���	�����	�� 
��� 	�
���-���B

����������� ?�� (ρi)i∈N > ��� ��?U�	
�� ���������	�� 
���
�	���

#�<� l(i, j) � ��	�� �	����� ��� ?�� fifj ∈ Ll(i,j)B ?������� ������� ?�� l(i +

1, j) > l(i, j)B �� ��<�B ����� ?�� ������� ?�� ρl(i,j) < ρl(i+1,j)B ���� ���� ������

���	�� ?�� ρl(i,j) = ρi + ρj �

#�<�� fi = xayb � fj = xcydB 
�� b < 2 � d < 2� #� b + d < 2 ����� ?��

fifj ∈ B � ��
� ρl(i,j) = ρi +ρj � #���	�� �
��� b+d � 2B ����� ?�� b+d = 2+λ


�� λ < 2B ����� fifj = yλxa+cg(x)� 3��� ?�� ���� fh = yλxa+c+mB ����� ?��

ρh = 2a+2c+2m+λm = 2(a+c)+m(λ+2) = 2(a+c)+m(b+d) = ρi+ρjB �&�����

���&>� ?�� ����� ��	���� ft �� yλxa+cg(x) > ��� ?�� ρt < ρh ����� l(i, j) = hB


�	
������ �	�+� ?�� ρl(i,j) = ρi +ρj � ����� ρl(i+1,j) = ρi+1 +ρj > ρi +ρj = ρl(i,j)�

%
��� ���� ������� '����B ����� ?�� �/���� ��� !�	*+� ���� �� R�

�3�16�� 5:(:): (�� �� ���=����� �� �/����� '���LB ���� �� 
�	<�	�� P 
��

n ��	��� ��
��	��� �����	��� �� X � %�>� �����B ��<� k ���� ��� ρk = lm� �����

�	�+� ?�� � 
=��
� Ek ��� ���R������ �
���� �� �� 
=��
� C(D, G) ����� ��

'���'�
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